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X General Exam (1)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1. The nurse grabbed my sister'sarmand ............cccccccvevverieenen. the needle in.

a. motivated b. persuaded c. merged d. plunged
2.Shefelttiredasshe .......................... all day.

a. has been working b. has worked c. had been working d. is working

3. “The situation seems to be getting more and more complicated.” The opposite of the word
"complicated" IS .....ccceevvvveeiiieeeciiee

a. complex b. remarkable C. Creative d. plain
4. Wewill ...l at the mechanic’s.
a. repair our car b. have repaired our car
C. get repaired our car d. get our car repaired
5.Helearned several ........................ for glazing @t pottery.
a. chances b. emotions c. techniques d. routines
6. These broken toys must .................... back to the shop.
a. be taken b. have taken c. take d. be taking
7. The film's special effects are particularly ..........................
a. impress b. impressed C. impressive d. impression
8. Have you considered ...................... a new branch for your company in Cairo?
a. open b. to open C. opening d. opened
9. Withevery ................ , your relationships, your achievements, and your failures are all
open to interpretation.
a. widely spoken b. gateway c. badly injured d. life experience
10. Doyou .......ceunn.n.. leave now?
a. have to b. ought to C. must d. need
11. Magdi Yacoub is a well-known surgeon. The word "well known" means ......................
a. unknown b. unkind c. famous d. enormous
12. Olaisatwenty-.................. -old girl.
a. years b. year C. year’s d. years’
13. My sister was rewarded for her ................ when, after many failed attempts, she finally
broke the world record.
a. customs b. traditions C. perseverance d. negligence
14. Eating at this restaurant ................... cost less two years ago.
a. used to b. used to be c. would d. would be
15. The French military is preparing to evacuate women and children of ........... families.
a. original b. rooted C. native d. expatriate
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16. Mona works very ....................... , that’s why her boss respects her.
a. hardly b. hard c. harder d. hardest
17. A stated opinion that requires further support is knownas ....................
a. afact b. aclaim c. a big name d. an evidence
18. The teacher asked us to bring the following things ......... paper, glue and colours.
a.; b.: c./ d.,
19. One of the following sentences is a personification. Identify it.
a. The opportunity was present b. The opportunity knocked on his door
c. The opportunity was exploited d. The opportunity came in time

20. (Research shows that green tea really does help your teeth.) The underlined words are

used for expressing .............

a. exclamation b. effect c. emphasis d. cause
21. Which of the following can be used to end a formal email?
a. Take care b. Catch up soon c. Love d. Kind regards

22. (Sick people lead a miserable life which is full of pain, weakness, suffering and feeling of
inferiority.) One of the following wouldn’t be suitable to support this; what is it?
a. A patient is usually inactive and careless.
b. Sick people lose the taste of life as life for them is boring and meaningless.
c. People who are ill are known to be less productive.
d. They practise useful hobbies and exercises and eat nourishing foods.
23. Which of the following sentences is correctly punctuated?

a. I,m a big fan of Italian food. b. I'm a big fan of italian food.
c. I'm a big fan of Italian food. d. I'm a big fan of Italian food?

24. "Give me an 'A' now!" This is an example of .............................. sentence.
a. interrogative b. declarative c. imperative d. exclamatory

25. One of the following sentences is out of order. Which one is it?
a. He made a set of goals to accomplish over the weekend.
b. He also wanted to mow the lawn, but it rained.

c. The weather, obviously, kept him from meeting his goals!
d. He hoped to plant new roses in the front yard.

26. Verbs that have a direct object are known as ................. verbs.

a. modal b. passive c. intransitive d. transitive
27. (She had to ride her bike to the top of a hill and then go downhill without stopping.)

The underlined modal expresses ............ccovvvvineinnn...

a. past necessity b. past habit C. present obligation d. ageneral rule
28. Choose the best ending for the following paragraph. (Much can be said in favour of
television because of the fact that it is a medium for transmitting information. This means
that it can both entertain and educate children, while keeping them amused. Television is also
a convenient option for busy mothers, acting as a babysitter much of the time while they get
on with everyday chores. On the other hand, television .........ccccccovviiiiiiiiniiiiinninnn )

( 4 ) My new Friend - 3¢ Secondary - Booklet of Exams

darsenglizy.com



My new Friend

a. teaches children only good language and polite behaviour.

b. gives children an idealistic portrait of life.

c. can turn children into lazy couch potatoes.

d. can have favorable effects on the children's perception of events.

29. (Mass media have a duty to be objective and aim at enriching people's knowledge. They

shouldn’t be used as a means to harm the society.) The writeris ......................
a. making prediction and expectation b. giving advice and warning
¢. making arrangement for the future d. expressing sorrow and regret

30. Which sentence has the most positive tone?

a. Farmers welcome barn owls, since one barn owl can eat nearly 2,000 mice a year.
b. Owls cannot really turn their heads all the way around.
c. The snowy owl is found in the Arctic. d. Burrowing owls are an endangered species.

B. Reading Comprehension

2. Read the passage and the answer the questions:

Sport is an important part of today's society and plays a large role in people's lives. Now

more than ever sport events dominate headlines and athletes have become national heroes.

From a social standpoint, sport plays a positive role in uniting people from different

social backgrounds in support of their favourite team. However, just as sport unites people
so it can divide them, as is often demonstrated by crowd violence at football matches.

Sport is also an important part of every child's schooling, as it plays a big role in their

physical and mental development. It teaches children how to work as part of a team and
cooperate with others, while at the same time improving their physical condition. The only
drawback to this is that children who are less able to perform well in sports are likely to feel
inadequate in comparison to their more gifted classmates, which may affect their self-
confidence.

Sports play a therapeutic role in addressing a number of psychological disorders.

Practising sports has a positive influence on depression. Physical self-worth and physical
self-perception, including body image, has been linked to improved self-esteem. Physical
activity has physiological, cognitive and affective benefits for individuals and communities.

From an economic point of view, sports can be very profitable, as it attracts a lot of

advertising. On one hand, this creates profit for the sporting industry which allows for
improvement and expansion. On the other hand, large sums of money are often paid to
event organizers to promote products such as cigarettes, which are harmful to one's health.

- Choose the correct answer from a, b, c or d:

1. One drawback of sport at football matches isthat .........................cooiii .

a. it creates profit for the sporting industry. b. it often leads to violent actions.

c. it improves the physical condition. d. it develops the mental condition.
. shouldn't be promoted in sport events.

a. Industrial products b. Sporting products

c¢. Unhealthy products d. Healthy products
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3. The children who are likely to feel inadequate are usually .....................cooonaill :

a. good at sport b. experts at sport
c. interested in sport d. weak in sport
4. From a psychological point of view, sport is beneficial for ......................o. .
a. teams and players. b. companies and sponsors.
c. individuals and communities. d. animals and people.
5. What does the underlined word "them" refer to?
a. sports b. matches c. people d. teams
6. The word “therapeutic” is close in meaning to ......................
a. destructive b. curative c. intelligent d. aggressive
7. Which of the following is an effect of practising sports on physiological health?
a. It makes people united b. It improves physical condition
c. It bans advertising for cigarettes d. It creates profits for industry.
8. According to the passage, sport has social effect on people, what is it?
a. It divides them not unites them b. It unites them not divides them
c. It neither unites nor divides them d. It unites them and divides them too.

9. According to the passage, which of the following sentences is not true?
a. Sport has physiological, cognitive and affective benefits for individuals.
b. Children who don’t do sports well feel adequate.
c. Sport unites people from different backgrounds.
d. Sport plays a great role in people’s lives.
10. Sports teach children .......................... ...
a. cooperation b. psychology c. performance d. comparison

3. Read the passage and the answer the questions:

With the introduction of the internet into our daily lives, we have changed from a society
of eight to two hours (that works from eight in the morning until two in the afternoon) into a
twenty four-hour society. Everything in this lifestyle is open all hours. You can buy your
grocery at midnight, book your holiday on the internet at 3 am and do business online at
dawn. Time has become open and places have been linked. The world has changed into a
small global village whose parts are linked, news is available and restrictions or borders are
cancelled. It has become one unit in which all elements are easy to reach.

Before you join the 24-hour revolution, take a minute to listen to what your body is trying
to tell you. This “round the clock™ lifestyle is not what the Great Creator intended for us.

In an area of our brains, we have a "body clock" that controls our body's natural rhythms.
It tells us when it is the right time to eat, sleep, work or play. It plays an important part in
our physical and psychological well-being. It is, in fact, what makes us control many things
including our hormones, temperatures, immune system and activity. It regulates the tempo
and brings in all the different instruments on time to make music rather than noise. If we try
to ignore our body clocks, or even to switch them off for a while, we not only deprive
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ourselves of much needed rest, but we also run the risk of seriously damaging our health.
Accordingly, we need to have a daily routine.

It is true that technology has facilitated many life activities and is still going forward. It
won’t stand still. However, we have to bear in mind that we mustn’t let technology turn us
into machines. At the same time it mustn’t deprive us of feeling, relaxing, and living
normally and naturally as the Creator has intended us to do.

- Choose the correct answer froma, b, cor d:
1. A 24-hour society means a society that works ...................ooeiiininn.

a. day and night b. day only c. night only d. from8to 2

2. "If you switch off your body clock", .........cooiiiiiii
a. you'll miss the train. b. you'll damage your health.
c. you won't attend the match. d. you'll be late for school.

3. A suitable title for the passage 1S: ......vviriiiiii i
a. Business Online b. Free Time c. Music in our Life d. Body Clock

4. Which of the following is TRUE?
a. The Great Creator intended us to work day and night.
b. The Great Creator intended us to sleep all the time.
c. Technology has turned the world into a small village.
d. Technology has made many life activities hard.

5. What does "It" refer to?

a. The immune system b. The body clock c. The temperature d. The hormone
6. The word “tempo” means .............c.ceoeiiviiiiiinnnnannn, .

a. rate of motion or activity b. timetable for work appointments

c. list of grocery item d. menu of foods in a restaurant

7. Which of the following is not a function of the "body clock"?
a. It tells us when it is the right time to eat  b. It tells us when it is the right time to die
c. It controls our body’s natural rhythms  d. It plays a part in our physical well-being
8. The writer prefers the natural lifestyle which allows people to .................c.ooeeii.

a. sleep by day and work at night b. sleep day and night

c. work day and night d. sleep at night and work by day
9.Adaily ...l makes everything go normally.

a. risk b. timing c. technology d. routine
10. In the last paragraph, the writer is giving readers some .......................

a. instructions b. suggestions c. advice d. recommendation

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

1. Space invasion has opened new horizons for humans and increased their ambitions.
A gala (e 3151 pdill Basaa (38T pLall) 36 B B G agila gala (e 313 pidall Baiaa sk pLadl) CilESIA) grib A8
Al G 3519 pdall Bagaa 3ok sliadl) 936 il A8 3 agdlal e 315 pdll Banaa (§UT pliadl) CiliSiu pid &Y

2 sl gla (oo Aot ALl clilaia) e — 5 i) ) il (7 )

darsenglizy.com



Ten General Exams

2. A camera is an optical instrument that records images that can be stored directly,

transmitted to another location, or both.
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a. Scientists think that the core of the earth consists of very heavy metals such as iron and
molten rocks.
b. Scientists think that the core of the earth consists of very heavy metals such as iron and

milling rocks.
c. Scientists think that the core of the earth contains of very heavy metals such as iron and
milling rocks.

d. Scientists think that the core of the earth contains of very heavy metals such as iron and

molten rocks.
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a. Do you think that countries should spend on mainly needs more than they spend on
scientific research?

b. Do you think that countries should be spent on mainly needs more than they spend on
scientific search?

c. Do you think that countries should be spent on main needs more than they spend on
scientific search?

d. Do you think that countries should spend on main needs more than they spend on
scientific research?

D. Writing
5. Write about 200 words on one of the following:

1. An essay on “Tourism is a great source for enhancing economy.”
2. A reflective essay about an invention that you are thinking of to make life easier.

X General Exam (2)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, c, or d:
1. The words “impatient” and “cross” are

a. prefixes b. suffixes c. antonyms d. synonyms
2. This time yesterday, [ ................... two reports.

a. had written b. was written c. had written d. had been writing
3.8She ..o after years of working overtime.

a. picked out b. carried out c. made out d. burnt out
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4. He hurt his leg during the race and had to ........................

a. givein b. pick up c. pay back d. pay for
5. HismMood .......ccoocevviieeiiiciecen, depending on the weather.

a. varies b. assesses C. raises d. produces
B. v them plays tennis well, but Ahmed is the best.

a. Every of b. Every c. Each d. Each of

7. An intern is an advanced student or a recent graduate, who is being given practical
training under supervision. The word “intern” here can be replaced by ................

a. arrogant b. mean C. waitress d. apprentice
8. My elder brotheris ........................
a. good-education b. good-educated c. well-educated d. well educated
9. A man whistled at her, but she ignored him. The opposite of "ignore" is ................
a. bear in mind b. stay calm c. be connected d. remain alone
10. Ahmed ................. live in Cairo. Now he lives in Tanta.
a. would b. used to c.bothaandb d. was used to
11. Petra led him into the kitchen, where she offered himthe ............. of the chocolate.
a. remains b. identities C. views d. parties
12. Thousands of people enjoy..................... at the sculptures made from snow in China.
a. with looking b. to look c. looking d. look
13. According to the Roman ............... , the city was founded by twin brothers who were
brought up by wolves.
a. legend b. outrage c. offend d. ascend
14. One of the following sentences is incorrect. Identify it.
a. Sometimes | visit the public library. b. Rarely do I sleep late.
c. I never mix with bad people. d. She usually is late for work.
15. Scientists have been searching for .......................... of life on distant planets.
a. community b. evidence c. contribution d. prove
16. How long have you worked for this company ...................... ?
a. for b. since C.ago d. yet
17. Intransitive verbs are ones with ....................
a. asubject b. no object c. no subject d. an object
18. Which sentence is correct?
a. Where have you been. b. Where have you been,
¢. Where have you been! d. Where have you been?

19. A phrase like “dancing leaves” isa/an ..........................

a. personification b. euphemism c. interrogation d. simile
20. Which sentence has the most positive tone?

a. Beavers can swim with branches in their mouths.

b. Beavers do not hibernate in the winter.

c. Wolves, coyotes, and bears are predators of beavers.

d. Beavers are clever and strong, and they work as a team to build their lodges.
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21. “Do you want to come with us?”isa/an ................. sentence.

a. assertive b. imperative c. exclamatory d. interrogative
22. Choose the best sentence to end the fooling paragraph.
(The subject of animal testing is very controversial. In my opinion, animal testing should
not be banned for a number of reasons. The first is that many products must be tested on
animals to ensure that they are safe for humans. The second is that the effects of certain
chemicals such as insecticides can be observed on animals and their offspring and the
results are achieved faster since animals have a shorter life span than humans. The final
reason is that it .............. )

a. is intended to cause animals to live longer.

b. hinders the scientific research.

c. is aimed at finding cures for many serious diseases.

d. fortifies the animals' immunity system.

23. She owns a big house ................. a company and three cars.
a., b.. c.; d.:

24. A/An ....... is a word or group of words that tell to what or whom we are talking about.
a. predicate b. determiner c. subject d. object

25. Choose the sentence that can’t support this idea:
(Trees are of the most important elements of nature).
a. They provide shade in summer and shelter in winter.
b. They provide people with fruits, sap, wood and chemicals.
c. They include furniture, sports equipment, pencils, magazines and cardboard boxes.
d. They help the earth to breathe and protect us from global warming.
26. “Goals help you stay focused and use your time more efficiently.”
Which detail below would not support this topic sentence?

a. If you don’t meet your goals, then you should have some consequences.
b. By setting a goal, you know what to put higher on a “to do” list.

c. Creating goals helps you manage different ideas.

d. Goal-setting helps you organize a list of things you want to do.

27. Which of the following is a simple sentence?
a. The army destroyed the city. b. They hit him and then killed him.
c. She was killed because she knew the secret. d. While they were fighting, he was killed.
28. Which is the best sequence for these sentences?
(1 The construction crew showed up around 9:00. 2 By noon, the carpet was ripped out. 3 By the
late afternoon, the first tiles were on the floor. 4 The day for new flooring had arrived.)
a. 1-2-3-4 b. 2-1-4-3 c. 4-1-2-3 d. 1-2-4-3
29. When writing an email, after the initial greeting you need an introductory sentence that
indicatesclearly ..............................
a. the address of the sender b. the reason for writing
c. the address of the recipient d. the signature of the sender
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30, i are added at the beginning of a word to change its meaning.
a. Prefixes b. Suffixes c. Adverbs d. Pronouns

B. Reading Comprehension

2. Read the passage and the answer the questions:

Everything has its pros and cons. Humans are always advised to make the best use of
the best things about something and avoid the bad ones that come out of it. Everything in
our world can be useful or harmful according to the way we use them. A knife is certainly
useful because we use it for cutting or chopping things, but it is harmful in the hands of a
child or a mad man. Fire is necessary for us because it gives us heat and light and helps us
cook our food, however it can be the cause of death and destruction if it is used carelessly.
On the other hand poison, which is certainly harmful, can be helpful when it is used, for
example in treating a sick man.

The way in which we deal with everything around us is connected with our personality
traits. We are either good people or bad people and our character determines our behaviour

towards things and people. We can make good use of anything, if we ourselves are good. In
the hands of a bad person everything is bad and destructive. On the contrary, in the hands of
a good person everything is good and useful. Money which can be spent on making guns,
bombs and poisonous gases, can be spent on useful purposes such as reclaiming the desert,
building new cities, treating sick people and so on. So, the only way to make life better is to
make ourselves better. The world around us is nothing but a mirror in which we see
ourselves.

- Choose the correct answer from a, b, c or d:
1. What happens when we use fire in a carless way?
a. It damages us. b. It benefits us.
c. It makes us innovative. d. It promotes our life.
2. What does everything around us have?
a. Some advantages which make it useful.  b. Some disadvantages which are harmful.

c. Only good things. d. Aand B.
3. What makes us deal well or badly with things?
a. The merits of things. b. The demerits of things.
c. Our own character. d. The things themselves.
4. What do things look like with a bad person?
a. They become constructive. b. They become destructive.
c. They are very useful. d. They become beneficial.
5. The underlined word "it" refers to ...............cooviiininn...
a. money b. death C. poison d. hand
6. What do you think the underlined word “traits” means?
a. qualities b. merits c. demerits d. advantages
7. Give a suitable title for the passage.
a. Everything is good b. Everything is bad
c. Everything is neither good nor bad d. Everything is either good or bad
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8. How many things mentioned in the passage that can have good or bad use?
a. Five b. Six c. Four d. Three
9. Poison is useful because it canbeused for ..........coeveeiia. ...

a. imprisonment b. treatment c. attachment d. attraction
10. - How can we make good use of money? — By spending iton .........................
a. construction b. destruction c. discrimination d. segregation

3. Read the passage and the answer the questions:

A comet is a member of the solar system which travels on an orbit combined with
gases. The brightest part of a comet is the head and it has a tail composed of thin gases and
fine particles. Comets should not be confused with meteorites or "shooting stars" which
flash across the sky at almost any time.

For many centuries the coming of a comet caused people to tremble with fear. They
believed that comets were evil signs foretelling plagues, wars and deaths. It often happened
that a comet was seen about the time that an important event in history took place. One
flared across the sky just before Jerusalem was captured and destroyed by the Romans about
2000 years ago. During the funeral of Julius Caesar, a great bright comet was seen over the
city of Rome. Another was seen on the day that the Roman emperor Nero killed himself.

When people understand what causes these bright flashes in the sky, superstition and
fear change to curiosity. Although there is still much to learn, astronomers know a great
deal about comets and their orbits. Comets do eventually die, that is, they break up and are
scattered along their orbits in the form of meteoric dust.

- Choose the correct answer from a, b, c or d:
1. What is the first paragraph about?
a. The difference between comets and planets.  b. The nature of comets.
c. The difference between comets and skies. d. The dangers of comets.
2. In the second paragraph, the writer included several examples to show how ...............
a. comets have changed the Roman history.
b. comets have resulted in wars or deaths.
c. the arrival of comets coincided with particular events.
d. the Romans were badly affected by the occurrence of comets.
3. When was a great bright comet seen over Rome?

a. When Caesar became emperor. b. After Caesar had died.

c. Before Caesar ruled the country. d. During the coronation of Caesar.
4. A superstition is a belief that certain events ...........................e. .

a. have good explanation. b. have reason.

c. have evidence. d. bring good or bad luck.
5. What does the underlined word "One" refer to?

a. An event b. A comet c. A meteorite d. A star
6. What does the word “foretelling” mean?

a. calculating b. predicting c. informing d. estimating
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7. What made people link a comet to the death of Nero?

a. Nero loved seeing comets b. Nero hated seeing comets
c. A comet was seen on that day d. A comet was seen in Nero’s house
8. A meteorite iSa .................. star which flashes across the sky at almost any time.
a. shuttering b. shooting c. shutting d. cheating
9. People feared comets because they believed that comets were .............. signs.
a. tricked b. wicked c. heavy d. good
10. Comets being the cause that made the Romans capture Jerusalemisa ......................
a. fact b. truth c. superhero d. superstition

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:
1. Science has taught us many things about the universe. This doesn't destroy our
amazement when we look at the night sky.
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2. Modern technological development has resulted in a feverish race among nations to catch
up with world progress. Egypt should win something in such competition.
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a. | think space domination is a waist of money and time and that we should spend this
money on solving the problems that we are faced on earth.

b. I think space exploration is a waist of money and time and that we should spend this
money on solving the problems that we face on earth.

c. | think space domination is a waste of money and time and that we should spend this
money on solving the problems that we are faced on earth.

d. I think space exploration is a waste of money and time and that we should spend this
money on solving the problems that we face on earth.
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a. The tropical chemicals demolished by cars into the air cause the problem of acid rain,
which damages the environment and causes deadly pollution.

b. The toxic chemicals released by cars into the air cause the problem of acid rain, which
damages the environment and causes deadly pollution.

c. The tropical chemicals released by cars into the air cause the problem of acid rain, which
damages the environment and causes dead pollution.

d. The toxic chemicals demolished by cars into the air cause the problem of acid rain,
which damages the environment and causes dead pollution.
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D. Writing

5. Write about 200 words on one of the following:
1. An essay on “the future of space technology.”
2. A narrative essay about a journey you will never forget.

X General Exam (3)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1. The man denied ................... any money from the little child.
a. take b. to take c. taking d. had taken

2. Thejudge ................. a large sum of money to those who were hurt in the train crash.
a. bordered b. remained c. advanced d. awarded

3. The boy is running fast. He .......................... down.
a. will fall b. falls c. is falling d. is going to fall

4. Her approach to studying for tests seems to work. "Approach" is synonymous with .......
a. prejudice b. contribution C. stereotype d. method

S5.Sheis ....coovvvinnnns ; she can’t see near things.
a. long sighted b. long-sighted c. long-sight d. long sight

6. The ability of science and technology to .......................... human life is known to us.
a. scold b. improve c. pout d. suppose

T, my parents has a mobile phone.
a. Both of b. All of c. Every of d. Each of

8. I’ve been looking for a new job for two years and I believe that ....... is the thief of time!
a. purification b. condemnation  c. deliberation d. procrastination

9. There used to be a club here. Thismeans: .........ovoeeiiiiiiiiiieeeennn...
a. A club is still here. b. A club used to be here. c. There was no club here. d. There is a club here.

10. We all spoke to them and John emerged as the best ...................... for the job.
a. expatriate b. satiate c. candidate d. variant
11. She tried her best, but it didn’tdoany .....................
a. good b. well C. better d. best
12. The composer's dramatic music reveals his passionate nature. The word "passionate" is
the opposite of ..o
a. ancient b. fluent C. spectacular d. apathetic
13. He asked me why ....................... late the night before.
a. | had come b. had I come c. I have come d. have I come
14. My advice to anyone who finds anythingona busisto handit............ to the police.
a.on b. for c.in d. off
15. Which house is ................... , mine or yours?
a. bigger than b. as big as c. bigger d. the biggest
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16.Sheis ....oooeviiii, grateful to her family for their support.

a. eternally b. eternal c. eternal d. externally
17, come at the end of a word to modify its meaning.

a. Prefixes b. Pronouns c. Vowels d. Suffixes

18. When writing an essay about (Life in the future), what would be the best conclusion?
a. Computers will be widely used in all fields, especially in education.
b. No one can be sure if future life will be better or worse but it will be very developed.
c. New sources of energy will be found.
d. A cure for dangerous diseases like cancer, swine flu and AIDS will be discovered.

19. “Twinkle, twinkle, little star, How I wonder what you are” is a/an ..................

a. apostrophe b. poem c. metaphor d. simile
20. Which sentence is correct?

a. Have you ever been to UAE? b. have you ever been to UAE?

c. Have you ever been to UAE. d. Have you ever been to UAE,

21. Which is the best sequence for these sentences?

(1 The truck was packed with sleeping bags, suitcases, and tents. 2 The Rish family was going on
a camping trip. 3 After nine long hours of driving, they arrived at the national park. 4 They
pitched their tents and set up camp.)

a. 1-2-3-4 b. 2-1-4-3 c. 4-1-2-3 d. 2-1-3-4
22. There are several causes of bullying .......................

a. . b.? c.! d.:
23. Which of the following is a compound sentence?

a. The bus stopped. b. We went out.

c. The bus stopped and we got out. d. We got out of the bus.

24. In an essay about (The importance of sports); how would you support this topic sentence
(Sports are very important for the individual)?
a. People who do sports are often stronger and healthier.
b. The society can benefit much from sports.
c. There are many different kinds of sports and games that people can practise.
d. Encouraging citizens to practise sports is a duty that must be done.

25. “I found the money nowhere.” “Nowhere” is a/an .................... adverb.
a. manner b. reflexive c. object d. indefinite
26. “She trained hard” “She could win the race.” These can be combined by ..............
a. for fear of b.soas to c. in order to d. so that
27.Ina CV. It is important to add your academic .................. and awards.
a. achievements b. nationalities c. information d. contact
28. — What does a simple sentence consist of? —One ........................
a. dependent clause b. independent clause
c. subordinate clause d. minor clause
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29. Choose the sentence below that gives your own opinion and supports this statement:
(Being a child means respecting your parents and realizing that they sometimes make choices for you.)
a. You should always respect what your parents say.
b. Parents have experienced more things that help them to know what is best for you.
c. | think that parents always know what is best for you, so you should do what they ask.
d. In my opinion, children should have more control over their decision-making.
30. An essay consists of ......................
a. paragraphs b. emails C. voices d. vowels

B. Reading Comprehension

2. Read the passage and the answer the questions:

The Inuit from northern Canada build igloos out of hard blocks of ice. Ice is a good
insulating material and the igloos are warm and comfortable. The nomadic Bedouin make
tents from animal skins and can move easily from place to place as they look for food for
their animals. People adapt their homes to suit their lifestyles and the conditions where they
live. Birds do this, too.

The golden eagle spends most of its life in the air, flying high above the ground looking
for food. Unlike most birds, it does not build a new nest every year but returns to the old
one and adds more sticks to it. Eagle nests are found high up on cliffs and the largest ones
can be 1.8 metres across and 1.5 metres high. By contrast, the tiny hummingbird builds a
nest less than 3 centimeters long. It uses grass and spiders' webs to construct it.

Woodpeckers build their nests in holes in trees, and weaver birds build beautiful nests
which hang from a single thread. In Holland, storks sometimes build nests on the roofs of
houses and people put wheels on their roofs to prevent the nests falling off. The lazy cuckoo
does not build a nest at all. It lays its eggs in other birds' nests and leaves them to raise its
young.

- Choose the correct answer from a, b, c or d:
1. How many birds are named in the article?
a. Seven b. Four c. Five d. Six

2. What are eagles’ nests made from?

a. gold b. sticks c. glass d. grass
3. What does the word “ones” in bold refer to?

a. nests of birds. b. eagles’ houses. c. eagles’ feathers. d. nests of cuckoos.
4. Which of the following is true?

a. Birds adapt their homes to suit their lifestyle. b. Cuckoos build very small nests.

c. Eagles use spiders’ webs to construct their nests. d. All birds’ nests are the same size.
5. Where does the lazy cuckoo lay its eggs?

a. In its own nest. b. In the desert.

C. In other birds’ nests. d. In nomadic villages.
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6. Why are the igloos warm and comfortable?

a. Because they are expensive. b. Because ice is a good insulating material.
c. Because they are built high up cliffs. d. Because they are made from animals skin.
7.To “adapt”’ means to ......................
a. check b. alter c. attract d. attack
8. Why do some Dutch people put wheels on the roofs of their houses?
a. To prevent the nests falling off b. To protect houses from the sun
c. To capture solar energy d. To protect nests from the sun

9. An igloo is a house made out of blocks of ..........................

a. melted ice b. hard ice c. hard bricks d. melted bricks
10. The writer thinks the cuckoo is lazy because it ......................oooii.

a. doesn’t fly b. doesn’t eat well

C. doesn’t work hard d. doesn’t build a nest

3. Read the passage and the answer the questions:

Computers are a major technological breakthrough of the twenty-first century. Their
benefits are numerous; yet, much can be said against them. The main disadvantage of a
computer is that staring at a screen for long periods of time can be damaging to the eyes.
Moreover, sitting on computers for hours at a time is certainly not healthy. It leads to
backaches and other bone diseases. Computers distract from social interactions such as
conversation. People can be inclined to become anti-social, and stay at home to use their
computer. One of the major arguments against the use of computers is that the more jobs
which are done by computers, the fewer are done by people. Some people expect the
development of technology in the future to make societies have more unemployed people.
Many recent reports have shown many companies replacing human power with computers
and leaving thousands of people unemployed and thousands of families in need of money to
live on.

However, the advantages of computers are numerous, such as the undeniable
educational benefits, especially to children. School subjects become more interesting when
presented on a computer screen. Moreover, computers can be fun with a seemingly endless
variety of games which can be played on them. In addition, computers are valuable to any
business, making life easier and saving time by being capable of storing and retrieving vast
amounts of information at the touch of a button. Furthermore, personal gains can be seen as
the use of computers increases powers of concentration. To sum up, there are strong
arguments both for and against the use of computers.

- Choose the correct answer from a, b, c or d:

1. Some people have the negative opinion about computers that they ............
a. solve the problem of unemployment b. increase the number of unemployed people
c. help people find more jobs d. create more job opportunities

2. The word "fewer" in the second paragraph refersto ...........................
a. arguments b. computers c. people d. jobs
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3. Some people are for the use of computers because ...............ccceevviiiinnnn....
a. they stare at the screen for a long time. b. they sit for hours at a time.
c. computers distract them from social interactions.
d. computers increase powers of concentration.

4. The word “breakthrough” means ....................oovveein...

a. a crack through a glassy thing. b. a break in the bones of someone.
c. an important development. d. an unnecessary discovery.
5. Sitting for too long on computers ...............ccoooeieen....
a. makes uses amused. b. gives users backaches.
C. passes infections between patients. d. makes users more relaxed.

6. With many companies using computers in the future, ...........................
a. employees’ life will be better. b. employees will earn more money.
c. many people will become unemployed.  d. more people will have jobs.
7. How do school subjects become more interesting?
a. When they are taught outside classrooms b. When they are presented technologically

c. When they are taught manually d. When they are taught in the classroom
8. Which of the following is not a social effect of the widespread of computers?

a. They distract from social interaction b. They make people more sociable

c. They make people antisocial d. They hinder social conversations
9. In what way are computers beneficial to any business?

a. They make life complicated b. They save time

c. They are used by touching buttons d. They increase human efforts
10. Something which is “undeniable” can’tbe ..........................

a. disputed b. fought c. bought d. known

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:
1. Man is exposed to many mental and psychological pressures which affects his behaviour.
ASsla o A5 Al Ao ol gl g AN Ja gradal) (o Sl lay sy
Al e g Al Auudil) g Aad) b gl (e il A e (Yl o
ASgla o i Al dpadil) g AN o ghudal) (o Sl (Alay Gl
AS sl Ao 555 (Al Ao ol gpeadl) g A0 2 o giual) (g Sl Ada o Gl
2. The human is the most destructive creature for the environment through his indifference.
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a. Using computers in all aspects of our life will undoubtedly help us to cope with developed
countries.
b. Using computers in all respects of our life will undoubtedly help us to keep with
developingd countries.
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c. Using computers in all respects of our life will undoubtedly help us to cope with
developing countries.

d. Using computers in all aspects of our life will undoubtedly help us to keep with
developed countries.

Aaali Jlae Jladly ald Lag il gual) () Glad) S g La pUaRY) Gl ) W ol €

a. Unless making mistakes, man wouldn’t know what’s right or do successful work.

b. Without making mistakes, man wouldn’t know what has right or do successful work.

c. Unless making mistakes, man wouldn’t know what has right or do successful work.

d. Without making mistakes, man wouldn’t know what’s right or do successful work.

D. Writing
5. Write about 200 words on one of the following:
1. An essay on “The importance of scientific research.”
2. An essay on “The different ways in which we can help the needy.”

X General Exam (4)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:
1. The word “grumpy” is the antonym of “good-..................... ”

a. educated b. fabricated c. natured d. balanced
2. The teacher gave the students a ten ........ break before they went on to do the next task.
a. minutes b. minute C. minute’s d. minutes’
3.ANn......... is a scientist who studies the stars, planets, and other natural objects in space.
a. customer b. bloomer c. astronomer d. newcomer
A4 1., take the bus to work because my car was not working.
a. have to b. had to Cc. must d. must have
5.She o upon his rude behavior.
a. altered b. frowned c. organized d. stretched
6. Which do you think is .................... city in the world?
a. the most polluted b. most polluted  c¢. a more polluted d. more polluted
T.Never ..., the president while he is giving a speech.
a. co-operate b. interrupt c. boycott d. interview
8. It broke my heart when my best friend .................. in an accident last year.
a. died b. was died c. dies d. dead

9. Saving the rare butterfly species is simply not relevant for the local people who are just
barely surviving themselves. The word "relevant" here is the antonym of ...............

a. crucial b. current c. international d. insignificant
10. Om Kolthoum ...................... of as the best Arab singer ever.
a. still is thought b. is still thought c. still is thinking d. is still thinking
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11. Each year millions of tourists visit Italy to see the country's cultural and historical
...................... such as the Colosseum in Rome.

a. bargains b. landmarks C. views d. reviewers
12. I must admit that [ admire ...................... these girls.
a. none of b. no c. neither d. either
13. The local people were actually ............ ; they often spoke three, four, five languages.
a. multilingual b. trilingual ¢. monolingual d. bilingual
14.She .....ccvviniinni, long hair when she was young.
a. used to have b. was used to have c. got used to have d. would have
15. When | look ....... , | think those early years living in the city were my happiest years.
a. after b. back c.up d. into
16. NO SOONET ...cuvvvvieeeannannnnn. the noise than we rushed to see what happened.
a. had we heard b. we heard c. we had heard d. we were hearing
17. In the signature of the formal email, use .......................ooeeenne.
a. your first name b. your last name
c. your first and last names d. no names at all
18. A paragraph consists of .........................
a. essays b. emails C. voices d. sentences
19. Irony is also known as .......................
a. prejudice b. favouritism C. sarcasm d. neutrality
20. The first sentence of an introductory paragraph is called the ......................
a. detail b. thesis C. summary d. conclusion
21. 1 love home-made food .................... my sister loves junk.
a.; b.! C.. d.,
22. “This isn’t my book. It must be yours.” The underlined word is a/an ........ pronoun.
a. interrogative b. possessive c. relative d. reflexive
23. Which of these is not a type of tense?
a. Present b. Language c. Past d. Future

24. Choose the best ending for this paragraph.

(Scottish people like to think that golf is a Scottish sport. The game did not come from
Scotland, however. It was first played in Holland in the 14" century. Only later did it become

........................................................... )
a. popular with the Dutch. b. popular in Scotland.
e. a real sport. d. an Olympic sport.

25. Which sentence is most likely told from the teacher’s point of view?
a. It’s disruptive when I am giving instructions. b. I didn’t mean to laugh in class.
C. Next time I’ll remember to show more respect to the rest of the class.
d. I just couldn’t help myself.
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26. (Libraries are cultural centers that help preserve knowledge and protect it)
Choose the most appropriate supporting detail for this?
a. Parents and teachers should teach children about the role libraries play in our life.
b. They should encourage children to pay regular visits to libraries.
c. Libraries improve self-learning and critical thinking.
d. We can't dispense with libraries which act as a main source of culture and education.
27. A persuasive textaims at .................coeenvennnn,
a. informing b. narrating C. questioning d. convincing
28. Which of the following sentences is right?
a. In the 17’s century it became very popular in Holland.
b. In the 17 century it became very popular in Holland.
c. In the 17™ century it became very popular in Holland.
d. In the 17 the century it became very popular in Holland.
29. The prefix “hydro” in “hydroelectric” means ......................
a. candle b. wax c. water d. electricity
30, i essays place two things side-by-side and points out the similarities and

differences between them.
a. Argumentative b. Narrative c. Expository d. Comparative

B. Reading Comprehension

2. Read the passage and the answer the questions:

Population problems are different in different parts of the world. For example, in
many European countries the population is getting older. The birth rate is very low because
many young people have only one child or none at all. People are living longer, too. At the
moment many old people are very lonely and often very poor. If people had expected to live
so long, they would probably have saved more money for their retirement.

In Africa, the problems of the future will be very different. There, the population is
doubling every 24 years. Many families continue to have large numbers of children to look
after older people and to help on the land. However, better medical services have increased
life expectancy and more children survive to become adults. Research shows that the size of
the family is connected with the standard of women's education. If more girls had gone to
school in the last 20 years, family size in Africa would probably not have continued to be so
big.

In contrast, the problem in Asia is not just population growth but also overcrowding
in many cities. Traditionally, most people have lived in the countryside, but within the next
25 years, more than 65% will live in cities. If Asian countries had expected this kind of
change 20 years ago, they would have tried to provide more work and better education in
the countryside. This is starting to happen now but it may be too late.

The world’s population is growing by almost 80 million people every year. We will
be facing many problems in the future. More and more people need room to live. They are
taking away the living areas of animals and plants. People need more food and have to grow
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more crops on the same land. This means that the quality of the soil is getting worse and
worse. More and more trees are being destroyed, especially in tropical regions. More carbon
dioxide, which is wusually taken up by trees, is now set freeinto the atmosphere.
This leads to global warming. Population growth is highest in developing countries. Young
people have to care for their parents and grandparents, so they have less money to buy the
things that they need. They stay poor.

- Choose the correct answer from a, b, c or d:

1. Why are many old people in Europe very poor?

a. They didn’t save enough money in the past.  b. They didn’t work in the past.

c. Their money was stolen. d. They don’t work hard at the moment.
2. A suitable title for the passage canbe "...................... "

a. World Resources b. World Population

c. World Problems d. World Changes
3. Life expectancy in the passage means .............c.coeeeviiienieennnnnn.. .

a. experienced life b. long life c. average life d. expanding life
4. In Asia, after 25 years most people ........covviiiiiiiiiiiiiiiiiii .

a. will live in the countryside b. will leave cities

c. will live in cities d. will leave to the countryside
5. More population leads to .............cooeeiiiiiin.n.

a. a very good soil b. very good harvests

c. poor quality soil d. very advanced agriculture.

6. The underlined word “this” refersto ...................ooooiiial.
a. carbon dioxide being taken in by trees
b. carbon dioxide being taken in by plants
c. carbon dioxide being emitted into the atmosphere.
d. carbon dioxide being extracted from the atmosphere.
7. Which of the following is used to express an idea contradicting with the previous one?

a. So b. In contrast c. This means that d. For example
8. Over-population results in ............cooeiiiiiiiiiinnin..

a. education b. expectancy c. livelihood d. poverty
9. To “double”means to ............ccceeiiiiiiiiiiinnn...

a. increase by two times b. decrease by two times

C. rise by three times d. drop by three times
10, oo people tend to have larger families.

a. llliterate b. Educational c. Educated d. Educable

3. Read the passage and the answer the questions:

Advertising has become a very specialized activity in modern times. In the business
world of today, supply is usually greater than demand. There is great competition between
the different manufacturers of the same kind of product to persuade customers to buy their
own particular make. They always have to remind the customer of the name and the quality
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of their product. They do this by advertising. The manufacturer advertises in the newspaper
and on posters. He sometimes pays for songs to be sung about his product on commercial
radio programmes. He employs attractive salesgirls to distribute samples of it. He organizes
competitions with prizes for the winners. He often advertises on the screens of local
cinemas. Most important of all, on television and internet sites, he has advertisements put
into the programmes and other material whenever this is possible. Manufacturers often
spend large sums of money on advertisements.

We buy a particular product because we think that it is the best. We usually think so
because the advertisements say so. Some people never pause to ask themselves if the
advertisements are telling the truth. This means that we are greatly influenced by these
advertisements.

Persuasion techniques of advertisements can be either rational, irrational or a
combination of both. Rational techniques are used in so-called informational advertising
which is a product-centered advertising. Informational advertising provides factual and
relevant information about a product or service. It might focus on product features and
benefits, product performance, comparisons with competitive products or other fact-based
arguments that lead consumers to logical and informed decisions. Irrational techniques are
used in so-called transformational advertising which is user-centered advertising. It is based
on the promise of a unique user experience that the product or service delivers to users,
which cannot be replicated by competing makes. It promises user experiences that generally
improve one's quality of life, such as more fun, more glamorous, more exciting, warmer,
richer and more satisfying.

- Choose the correct answer from a, b, c or d:
1. We buy goods DECAUSE .......coviieii

a. they are advertised b. we sell them again
c. supply is greater than demand d. we buy a certain make
2. Manufacturers advertise the goods they wanttosell .......................ial. .
a. in newspapers b. on posters
c.on TV programmes d. in different means of advertising
3. The word “poSters” Means ...........coviuiieieiiiie i i, .
a. notices for something for sale. b. shops and supermarkets.
c. markets and trade centers. d. salesmen and saleswomen.
4. What kind of means do informational advertisements use?
a. Rational means b. Unreal means
c. Irrational Means d. Collective means
5. Before buying something depending on an advertisement, people should ...................
a. that the advertisement is lying. b. that the advertisement is telling the truth.
c. that the advertisement is online. d. that the advertisement is exciting.
6. Why is there intense competition between manufactures?
a. Because they sell the same products. b. Because they are enemies.
c. Because they have no products to sell. d. Because they don’t love each other.
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7. The underlined pronoun “this” refers to ...........ccovviiiiiiiiiiiiiiieeene

a. the name of the product b. the quality of the product

c. remembering the customer d. reminding the customer of the product
8. In the passage’s context, the word “make” may be replaced by “................... ”?

a. produce b. brand C. create d. stand
O makes manufacturers spend so much money on advertising.

a. Intention b. Intuition c. Condition d. Competition
10. Advertisements have abig ........................ on people.

a. influence b. product c. campaign d. decision

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

1. It’s necessary to spread political awareness among citizens to live in peace and stability.
LOhal g aSay il i) gall (s Apaalpnad) A8 jpall pdii (g 59 pal) 14 |
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2. Only when we respect scholars and thinkers, does our life have a true meaning and a real aim.

No one can deny their great role in changing our life and making it easy and comfortable.
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a. It is important to organize your work so as not to accumulate work on you and to save
your time and effort.
b. It is important to organize your work so not to as accumulate work on you and to save
your time and effort.
c. It is important to organize your work so that it doesn’t peel up you and to save your time
and effort.
d. It is important to organize your work so that it does pile up and to save your time and
effort.
Al iy alil) pUBY agilatia e pliall Gla g clasdh of adliday g gb DS Y alina (o (1) yiing, ¢
a. The presence of most advertising is to sell goods or services and manufacturers advertise
their products to persuade people to buy them.
b. The presence of most advertising is to sell goods or services and manufacturers advertise
their products to deduce people to buy them.
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c. The purpose of most advertising is to sell goods or services and manufacturers advertise
their products to persuade people to buy them.
d. The purpose of most advertising is to sell goods or services and manufacturers advertise
their products to deduce people to buy them.
D. Writing
5. Write about 200 words on one of the following:
1. An essay on “How can we fight diseases?”
2. An essay on “The role of the Egyptian woman in society.”

X) General Exam (5)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:
1. The omission of the letter "'n" changes the boy's name Evan to the girl's name Eva.
The opposite of “omission” here is ............cooevviviiininnni.

a. deletion b. inclusion C. mission d. passion
2. Thisisthe girl with ... to school.
a.whomdo I go b. whodo I go c.who I go d. whom I go
3. Everyone was getting bored and cross. The adjective “cross” here means ................
a. sustainable b. available c. irritable d. desirable
4. Everyone admires her for sheisa ........................ girl.
a. good looking b. well-looked c. good-looking d. well-looking
5. The picture shows six of the nine planetsinthe .............cccoeveennnn. system.
a. solar b. lunar c. physical d. abstract
6. My brother rarely walks to school, ......................... ?
a.isn’t he b. is he c. doesn’t he d. does he
7.He .o smoke coming from the kitchen and called the fire department.
a. received b. disbelieved c. grieved d. perceived
8. The kids were made ................... early.
a. sleeping b. sleeps c. to sleep d. sleep
9. That dress looks ................cevenin. because of the lace on the sleeves.
a. old-fashioned b. modern c. recent d. fashionable
10, o, boys did the task.
a. All of the b. All the c. All d. All mentioned
11. Progress is being made, butthe ................... impression is still one of utter chaos.
a. specific b. overall C. private d. scarce
12. Our science teacher usually treats us ................ceoevenen. .
a. in a fatherly way b. father c. a father d. fatherly
13. Nada looked beautifuland ....................... as always.
a. annoyed b. disappointed c. elegant d. ugly
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] out by the dentist.
a. pulled her bad tooth b. had pulled her bad tooth
c. had her bad tooth pulled d. had her bad tooth was pulled
15. Youshouldtryto ................ooeenen. the meaning of whole sentences.
a. hang b. grasp C. serve d. save
16. At the ceremony, the honoured scientist said ............. the best day of his life.
a. that day had b. that day was c. yesterday had d. today was
17.A/A ... essay defines different things, ideas and perceptions.
a. argumentative b. persuasive c. definition d. analysis

18. Which sentence is most likely told from the point of view of a two-year-old?
a. He keeps pulling my hair and crying, but I don’t know what he wants.
b. You need to understand that he’s only a toddler, so he doesn’t know how strong he is.
c. I want that milk. d. Why don’t you both go play together in the bedroom?

19. A metaphorisa/an ..................oeinennn.
a. figure of speech b. proper noun c. linking word d. transition
20. Choose the best ending.
(For centuries, men who work as coal miners have had many health problems. The worst of
these problems is a disease called "Black Lung." It is caused by the coal dust in the mines.
In the United States, until very recently, about one in every five miners got this disease. For
these men, it meant poor health and a shorter life. Then in 1969, a new law forced the coal
companies to improve the working conditions for miners. Since then, .................... )
a. many more miners have gotten ""Black Lung."
b. the conditions in the mines have worsened.
c. there have been many fewer miners in the mines.
d. fewer miners have gotten ""Black Lung."
21 is a way of gathering ideas about a topic.
a. Reviewing b. Editing c. Proofreading d. Brainstorming
22. Which of the following sentences needs a semicolon?
a. She is tired because she has been working hard.
b. While she was running quickly she fell down.
C. I spoke to him last night he won’t come tomorrow.
d. She is very ill so she is going to have an operation in two days.
23. In an essay about (The importance of water); what wouldn’t be a suitable supporting
sentence for this: (Water has great importance in our life)?
a. We can get water from rain, rivers, wells, seas and lakes.
b. Without water, life on earth would be impossible.
c. Man, animals and plants need and use water for many purposes.
d. Humans use it for drinking, washing, cooking and watering plants.
24. My friend wondered whether I had known that before ........................
a., b.. c.? d.:
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25. Each paragraph should support or expand the central idea to achieve ................

a. development b. coherence c. focus d. unity
26. The prefix “bio” in “biography” refers to the word ......................
a. biology b. life c. death d. geology

27. Which of the following could be a topic sentence for a paragraph about (Co-education)?
a. Co-education refers to education for both boys as well as girls.
b. Students also develop mutual respect and self-esteem in these schools.
c. One advantage is that it helps students in almost all spheres of life.
d. Another disadvantage is sexual harassment caused by students.

28. Fill in the blank with an adjective clause: The cricketbat .................. is mine.
a. with a broken handle b. which has a broken handle
c. and a broken handle d. with a broke handle
29. i, paragraphs examine similarities and differences.
a. Compare and contrast b. Cause and effect
c. Process analysis d. Group classification

30. In a formal email, avoid ....................
a. greetings b. abbreviations  c. emoticons d. bothbandc

B. Reading Comprehension

2. Read the passage and the answer the questions:

When most children and older people who should know better think of pirates, they
think of storybook characters. The most famous of these are Long John Silver in "Treasure
Island” and Captain Hook in Peter Pant. These and other pirates sailed the seas in sailing
ships. Their flag was skull and crossbones. They robbed other ships and led exciting and
adventurous lives. They lived over a hundred years ago and although they were bad men,
they were not completely wicked. This is the romantic idea of pirates. The truth is very
different. Firstly, most pirates were not and are not like the storybook characters. They are
not just men who robbed other ships; they were and are murderers of the worst kind. They
killed and kill people for their money and goods. Secondly, there are probably as many, if
not even more, pirates on the seas today than there were a hundred or more years ago.

Nowadays, however, they do not sail in sailing ships and they do not have swords.
Modern pirates use fast motorboats. They have machine guns and other weapons which they
use to kill the sailors and passengers on the ships they attack. Whereas pirates in history
were usually caught and punished, most modern pirates are never caught. They move too
quickly and there are too many of them.

Piracy is so serious that American sailing magazines tell their readers to take weapons
with them the bigger the better. They also advise having the most modern. So many people
have had problems with pirates that they don't talk about the fish they have caught or the
excitement of sailing any more. They talk about machine guns and bullets, and their escapes
from pirate attacks. When we think of pirates, therefore, we should not have romantic ideas,
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we should remember that they are really some of the most dangerous and wicked men in the
history of sea travel.

- Choose the correct answer from a, b, c or d:
1. What is “Treasure Island’?

a. A character in a film. b. A character in a novel.
c. A famous storybook. d. A piracy ship.
2. American sailing magazines advise readers to take weapons so asto .................... .
a. kill each other b. hunt animals
c. defend themselves d. kill captains
3. Who is Captain Hook?
a. He is a politician. b. He is a story pirate.
c. He is a policeman. d. He is a romantic person.
4. What do modern pirates do for doing their crimes?
a. Swords and horses. b. Machine guns and modern weapons.
c. Sailing ships and swords. d. Huts and primitive caves.
5. What tales did people travelling on seas tell each other in the past?
a. Their escape from pirates. b. Their fighting against pirates.
c. Their catching big fish. d. Their having lunch on decks.
6. What does the underlined word “these” refer to?
a. real pirates b. fictional pirates c. sailing ships d. storybooks
7. Story readers don’t realize that piratesare ............................
a. romantic b. aggressive c. fictional d. imaginary

8. “Piracy is so serious that American sailing magazines tell their readers to take weapons
with them the bigger the better.” This expresses .............cceovenven.n.
a. effect b. contrast c. time d. condition
9. Because they are faster, pirates of the modern age ......................oenen.
a. are easily caught b. are killed c. resist being caught  d. can never escape
10. According to the passage, which of the following is true?
a. Modern pirates use fast motorboats and machine guns.
b. People who are attacked by pirates always talk about big fish.
c. Pirates used to kill people for their money but they no longer do.
d. Long John Silver was the author of "Treasure Island™.
3. Read the passage and the answer the questions:

My sister Soha and | had decided our goal for the summer holidays. We were able to
get a job in a food factory. When we joined work, | had a terrible experience because work
started early. But | was in the bad habit of staying up late watching TV and not having the
ability to get up early. Even on school days, | was always punished by the headmaster for
going to school late. My school performance was also badly affected and my relationship
with my teachers was bad. All those people thought that I was careless and didn’t give due
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care to my future but the fact was that this habit, which | never succeeded in getting rid of,
controlled me for some reason I didn’t know.

One morning | was very late for work. The supervisor warned me, if | was late again
he would fire me. Soha advised me to be more careful about coming on time. Our job was to
stand at a line picking the bad cans. The place where we worked was noisy but we had great
fun.

The factory did not give us our first pay until the end of the second week. | felt very
proud handing my mother some of the money. That evening, | was telling my parents about
our week in the factory. "Sure, you've quite taken to working, haven't you?" said father and
before we could speak, mother interrupted, "They're getting more than work experience,
you know".

Early one afternoon the line stopped and the technician came to repair it. | could see it
was going to be a long job. It was good to be away from the noise of the factory. We sat
outside, then the supervisor came raging out of the factory door. “What are you doing here?
You're fired, both of you. Go and get your things.” Then, we felt sad.

- Choose the correct answer froma, b, cor d:
1. The mother was defending them because ..............c.ooiiiiiiiiiiiiiiiii e, .

a. they were lending experience b. they were lacking experience
c. they were giving experience d. they were getting experience.
2. Although they were excited to be away from the noise they felt sad when ................. .
a. the supervisor approached them b. the supervisor fired them
c. the supervisor spoke to them d. the supervisor saw them
3. How long had the writer suffered from his bad habit?
a. Since he started work. b. For a long time.
c. For a week. d. For a fortnight.
4. What was the reason for the writer’s staying up late and not getting up early?
a. He watched TV a lot. b. He stayed up studying.
c. There was no certain reason. d. He was careless.
5. The writer and his sister got their first pay after working in the factory for ................
a. a month b. two weeks c. the whole summer d. one week

6. The underlined word “fire” means ............................ .

a. burn b. dismiss C. beat d. hit
7. “You’ve quite taken to working.” means: YOU .........covvviiiiiiiiiiiiiiiienineeann...
a. started to hate work b. developed a liking for work
c. loved work in spite of hating it d. hated work because of fatigue
8. — What sort of man was the supervisor? —Hewas ........................
a. negligent b. careless c. strict d. naughty

9. What is the story about?
a. A father and mother encouraging son and daughter to work hard.
b. A person and his sister working in a factory and being fired.
c¢. Two workers working hard until they are promoted at work.
d. Two teens leaving school and starting their own business.
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10. Why were the writer and his sister fired?
a. The supervisor didn’t love them b. They neglected their work
c. They stayed up late d. They wanted to get a pay rise
C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:
1. Education is considered the cornerstone of achieving progress, development and
promotion in any nation.

Al Al (B (Bl g dgalill g adhl) (Gaarl da abaad platl) yiing ]
Al Ayl B gaal) g Agaiil) g adS) (el dpabaad 8308 ) plail) piny
A Al B &) g Apadil) g anEil) GaBadl b Galead anladl) yliay 7
Al A A o ) g Asalill g a2 guatd Apaliad 838 ) audall yiiny 3
2. In fact the sun is an enormous sphere of very hot gases giving out a constant supply of energy.
ABUal e Gl 1300 e 30 A0 gd) Basad il AN (e i Jliaa (A uadd) caBl gl B
A8l e ) liaa 13000 et ) 4D gduad) Banad <l Ja) (e Jil (5 giaa A (uadd) (ABidal) b
AU (ya Gl 13080 dan AN A5 gAid) Banad Al cpe Sl 5 gina A Guadd) (AR B
Bl e ) liaa 13000 dar Al A gAlid) Bauad <) SN Cpe S e (A uadd) (231 gl B 3
it Aad 3 Blaadl (e Jrag agg) 58 (Al draal) LB gall B 0 AN Ggadl 4 e )Y
a. Extending a helping hand to others in difficult situations that they face make life
valuable and meaningful.
b. Extending a helping hand to another in difficult situations that they face make life
valuable and meaningful.
c. Giving a helping hand to another in difficult situations that they face makes life valuable
and meaningful.
d. Giving a helping hand to others in difficult situations that they face makes life valuable
and meaningful.
i alal ) 1aa L ey A4S AQlA) dldl ) Al glay a2l JLal)
a. Money is a good servant that accomplishes your serious purposes, but it becomes very
harmful if it controls you.
b. Money is a good service that accomplishes your serious purposes, but it becomes very
harmful if it controls you.
c. Money is a good servant that accomplishes your various purposes, but it becomes very
harmful if it controls you.
d. Money is a good service that accomplishes your various purposes, but it becomes very
harmful if it controls you.
D. Writing
5. Write about 200 words on one of the following:

1. An argumentative essay on “Will computers control our life?”
2. An essay on “The effect of computer games on our children.”
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A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1. He was awarded a prize for his ........ccccccevevveiiiiiennns to world peace.

a. presentation b. education c. contribution d. qualification
2. She is shy because she ......................... to a stranger before.

a. has never spoken b. never speaks c. never used to speak d. had never spoken
3. It has been an incredible journey and a ..........cccccevveviecvccnenen, experience.

a. life-changing b. constant life c. life-changed d. life constant
4. When he was achild,he ...................... be aggressive.

a. would b. was used to c. would have d. used to
5 Thepolice ....................... the people from the valley before the flood.

a. arrested b. assassinated c. hijacked d. evacuated
6. I wish thisroad .................... by the time I come next year.

a. will have repaired b. will have been repaired

c. would have repaired d. would have been repaired
7.Shehasa.......... about seafood; she's never tried it but she thinks it will taste bad.

a. allergy b. prejudice c. pride d. glory
8. Thisistheir ....................... dish.

a. the most popular b. most popular  c. popularity d. the least popular
9. Aliwas .............. in his video game and did not hear his mother call him for dinner.

a. influenced b. immersed Cc. mixed d. combined
10. A new factory ................. near my house.

a. is being built b. is building c. was building d. will have built
11. The long day at school exhausted her. “exhausted” here means .....................

a. cleared off b. wore out c. dug up d. hand in
12. She told me that she .................. her bag in Italy the year before.

a. has lost b. had lost c. was losing d. had been losing
13. The detective used ....................... to figure out who stole the diamonds.

a. magic b. logic C. awareness d. procrastination
14. She said she would help .....................

a. them all b. all of they c. all of them d. bothaandc
15. He exaggerated his role in the rescue of the child. The antonym of "exaggerate™ is ...........

a. maximize b. modernize C. vapourise d. minimize
16. Don't worry. I'm sure everything ..................... all right.

a. will have been b. may be c. will be d. is being
17.A/An oo paragraph clarifies a general statement using examples.

a. illustration b. classification Cc. comparison d. cause-effect
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18. (Exercising in your home may be good for your health, but maybe it is not good for your

children.)
a. verb / adverb b. adverb + verb  c. adjective / verb d. verb + adjective
19, . are usually formed using words like “as” and “like”.
a. Personifications b. Alliterations c. Metaphors d. Similes
20. Which example can be followed by an exclamation mark?
a. What is your age b. What a tremendous mountain
c. Please, give me a hand d. Do just as | have just told you
21. Which of these is not a type of sentence?
a. Simple b. Continuous ¢. Compound d. Complex
22. Which of the following is brief pauses in speech, usually used for expressing emotions?
a. Pronoun b. Conjunction c. Interjection d. None of the above

23. In a text about (Women's role in the Egyptian society); what would be the best topic
sentence?
a. The Egyptian woman can occupy high-ranking positions in society.
b. Women are half the society and behind every great man lies a woman backing him up.
c. In economy, they run institutions as efficiently as men do.
d. They can be elected as parliamentary members too.
24. A thesis statement shouldn’tbe ........................
a. an announcement  b. complete C. precise d. clear
25. In an essay about (What makes a person employable); what would be the best
supporting details?
1. They should have a degree, a driving licence and knowledge of more than one
language.
2. They should speak English fluently and be good at using modern technology and
dealing with the internet.
3. They should be determined, hard-working, tall and strong, conscientious and sociable.
4. They must be proud and conceited while describing their abilities.

a.1-2-3-4 b. 2-3-4 c.1-2-3 d. 1-3-4
26. Where should the main idea be put up in a paragraph?
a. In the beginning b. In the middle  c. At the end d. After the paragraph

27. (Unemployment has many disadvantages for both the individual and the whole society.)
One of the following sentences can’t be a supporting detail for the sentence above;
which one is it?

a. It can turn our life upside down and make life conditions unbearable.

b. Facing the problem of unemployment must be a priority for the government.
c. Unemployed people usually feel frustrated, desperate and aimless.

d. An idle person sees himself like a parasite which does nothing useful.
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28. Which of the following sentences is punctuated in the correct way?

a. Wow? That car certainly goes fast! b. Wow! That car certainly goes fast!

¢. Wow; That car certainly goes fast! d. Wow. That car certainly goes fast,
29. The statement | have written a letter belongs to which of these tenses?

a. Simple Present Tense b. Present Perfect Tense

c. Present Continuous Tense d. Present Perfect Continuous Tense

30. “He died of an overdose of drugs.” The prefix “over” in “overdose” means ...............
a. too much b. too little c. too few d. too

B. Reading Comprehension

2. Read the passage and the answer the questions:

Nothing can dispense with energy. People, animals and plants need energy to live and
machines need energy to work. Today, most of the energy we use still comes from fossil
fuels like coal, oil and gas, which have been formed underground over millions of years.
We call these non-renewable forms of energy because they can only be used once. Because
of this, we need to reduce our use of non-renewable fuel and use more renewable forms of
energy like that from the sun, wind or geothermal energy.

For centuries, the wind has been used to sail ships and to pump water. Now it is used
to produce electricity. Groups of wind turbines along the red sea in Egypt generate large
amounts of electricity. Water is also a renewable form of energy. Huge quantities of water
go through the High Dam at Aswan from Lake Nasser. This hydroelectric power supplies
Egypt with a lot of its electricity. As well as being inexpensive to produce, this clean energy
does not pollute the environment.

Other countries depend on nuclear power — power produced when atoms split.
However, nuclear power produces dangerous waste which must be stored for thousands of
years before it is safe. Accidents at nuclear power stations are extremely dangerous to
people’s health and to the environment.

Energy from the sun is probably the best form of renewable energy. Scientists believe
that the sun’s energy will last for another five billion years. This energy can now be
captured and stored. It’s important for us to save energy in our homes and workplaces in
order to stop using up non-renewable sources of energy.

- Choose the correct answer from a, b, cor d:
1. Which of the following is TRUE?

a. Machines need energy to live. b. Renewable energy is used only once.

c. Solar energy can be stored. d. Non-renewable energy lasts forever.
2. Why are there wind turbines along the red sea?

a. So that the place looks pretty. b. To produce electricity.

c. So that people would swim safely. d. To capture energy form the sun.

3. Hydroelectric power makes energy out of ..................cceevinnn.. .
a. water b. wind c. electricity d. the wind
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4. Why are fossil fuels non-renewable?

a. They will last forever. b. They are buried.
c. They come from animals. d. They are used only one time.
5. How do we get nuclear power?
a. From the high dam. b. From wind turbines.
c. By splitting atoms. d. By analyzing rubbish.
6. The verb “dispense with” means ................coviiiiiiiniiiinnn.. :
a. get on with b. live with c. do without d. agree with
7. How many renewable forms of energy are mentioned in the article?
a. Two b. Five c. Three d. Four
8. Non- renewable forms of energy include ...........................
a. hydroelectric b. gas c. solar d. lunar
9. Fossil fuelsarefound ...,
a. in space b. in plants c. in oil d. under the ground

10. “As well as being inexpensive to produce, this clean energy does not pollute the
environment.” This eXpresses .........ooeevveenennn...
a. cause b. contrast C. result d. addition

3. Read the passage and the answer the questions:

There is at least one kind of animal which really flies, the bat; there are some birds, for
example the ostrich, and the emu which do not fly but run. Speaking generally, however,
birds are made to fly. It used to be thought that this power came from the fact that their
bones are hollow and can be filled with air or because they have little sacks filled with air
all over the body. But today it is no longer thought that these sacks and air-filled bones
make the bird able to fly. It is better to look at the way in which a bird is shaped. It looks
like a boat with the breast bone for a keel; and if we think of air in the same way like water,
we shall see how this keel helps the bird. Air of course, has much less resistance in it than
water; yet the bird in the air and the fish in the water have much in common. With its wings
the bird propels itself through the air, and just as a boat has a rudder by means of which it is
directed, so the bird uses the feathers of its tail to take its course. It has been said that in
proportion to its size, the wings of a bird are nearly two hundred and forty times more
powerful than the arms of a man.

Birds obtain thrust by using their strong muscles and flapping their wings. Some birds
may use gravity (for example, jumping from a tree) to give them forward thrust for flight.
Others may use a running take-off from the ground.

Different birds have different adaptive features to meet their flight needs. Some birds
are small and can manipulate their wings and tail to manoeuvre easily. The hawk, with its
large wingspan, is capable of speed and soaring. Gannets and seabirds are streamlined to
dive at high speeds into the ocean for fish.
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- Choose the correct answer from a, b, c or d:

1. Both air and water .............. that go through them such as birds, cars, fish and ships.
a. resist objects b. help objects C. reject anything d. steer many things
2. Itis no longer believed that air filled sacks and hollow bones ..............................
a. prevent birds from flying. b. function as a keel.
c. help birds to fly. d. are more powerful than arms.
3. The bird uses the feathers of its tail ..o, .
a. to fan its hot body b. to direct itself
c. as a keel only d. as a kind of a beautiful show
4. How does the hawk speed?
a. Using its small wings b. Using its light weight
c. Using gravity d. Using its big wingspan
5. What is the body of a bird shaped-like?
a. A fish b. A boat c. Asea d. Aman
6. The underlined word “thrust” means ........................oouuil .
a.apush b.afly C. energy d. strength
7. What is the only animal that flies?
a. The hawk b. The bat c. The ostrich d. The emu
8. The breast-bone ina bird is like a ................. helping the bird.
a. keel b. killer c. knee d. kneel
9. What do birds and fish have in common?
a. Both of them withstand gravity b. Both of them resist air and water
c. Both of them can swim d. Both of them can fly
10. Ostriches .......................
a. fly b. swim C. run d. dive

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

1. Arts are the mirror which reflects a society’s culture, customs and traditions.
S g Adlale g aaiaal) A8 SWad AN B ) A G 9l
Lol g Aale g aaliaall ABUES (el ) B )5l) A age )
Sl g A3)Ale g aaiaal) ABES ST AN 31 pall A g ) 7
Ll g Aale g aaliaal) ABES (uSal Al BT sall A ¢ eidl) L3
2. Sport plays a vital role in building up the personality of the individual and teaching them
good values and attitudes.
Basant) i) gall g i) dalai g ) dpadd gl b Lygan 190 Ay ) cali
Aagall L) gall g asil) daglatg 3 8 dpadd gl (B Ly gali |90 Al ) cali
Basanl) LB gall g i) dalai g i dpadd Uiy B Ly gali T 90 Ay ) qali 7
Aagal) Ll gal) g all) daglaig 8l Apadd gl B Ligan T 599 Ll )l cali
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a. We must rationalize our use of water. A drop of water is too precious to be wasted, and
the next war maybe a war on water.
b. We must rationalize our use of water. A drop of water is too precise to be wasted, and
the next war may be a war on water.
c. We must rationalize our use of water. A drop of water is too precious to be wasted, and
the next war may be a war on water.
d. We must rationalize our use of water. A drop of water is too precise to be wasted, and
the next war maybe a war on water.
gl gf cladl) o Gl )y (o quad W g Al Eigli Y AN AGall) ABal) il e Ualdie ) cpe 33 o) Udde ¢
a. We have to increase our independence on clean energy sources that do not pollute the
environment and do not cause any harm to humans, plants or animals.
b. We have to increase our dependence on clean energy sources that do not pollute the
environment and do not cause any harm to humans, plants or animals.
c. We have to increase our independence on clean energy sources that do not pollute the
environment and do not cause any harmful to humans, plants or animals.
d. We have to increase our dependence on clean energy sources that do not pollute the
environment and do not cause any harmful to humans, plants or animals.
D. Writing
5. Write about 200 words on one of the following:
1. An essay on “Prevention is better than cure.”
2. An essay on “A person you admire.”

X General Exam (7)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, c, or d:
1. There is a clear-cut difference between the two problems. The opposite of “clear-cut™ is

a. obvious b. serious C. vague d. plague
2. to the weather forecast yet?
a. Do you listen b. Did you listen  c. Are you listened d. Have you listened
3. Possibly the most famous ..........cccccoeevenienne. by Aesop is "The Tortoise and the Hare."
a. syllable b. tip c. fable d. heritage
4. Thardlysaw ............oooeeee. of my friends at the party.
a. noone b. none C. everyone d. any one
5. They denied that they were .......................... in committing the crime.
a. enclosed b. wrapped c. imprisoned d. involved
6. In order to get the essay .............covvvvinnenn.n. , I had to work around the clock.
a. to write b. write c. writing d. written
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7. “She is always cheerful when | get home from school.” The adjective “cheerful” here is

the synonym of the word ........................

a. joyful b. furious c. wretched d. disappointed
8. He is thirty-four. This means heisa .................. man.

a. middle-aged b. middle-age c. middle-ages d. middle aged
9. The school runs smoothly under the principal's ..........cccoeeviiiiniiennnnn.

a. argument b. management c. shipment d. pavement
10. I don’t smoke any longer. This means: ...........................

a. | still smoke b. I didn’t smoke c. | used to smoke d. I smoke
11. A tunnel under the sea Makes @ .........cccceevvveveeieeseesieene, between England and France.

a. balance b. reaction C. pain d. link
12. People have five fingersin ..................... hand.

a. every b. all c. both d. each
13. The performance of each employeeis ........................ once a year.

a. evaluated b. separated c. applied d. forgotten
4. You ..ooovvviiiinnn. insulted your neighbor.

a. shouldn’t have b. shouldn’t c. should have d. should
15. The books in the library are divided into Many .........ccccocevevcvevieriieesinns

a. findings b. presentations  c. careers d. categories
16. My friend ....................... ill when 1 visited him yesterday.

a. has looked b. looked c. was looking d. will look
17, i paragraphs are powerful tools for fiction writers.

a. Expository b. Declarative c. Descriptive d. Analysis
18. Which of these is not an important feature of a paragraph?

a. Length b. Breadth c. Unity d. Coherence
19.If ... , water boils. /If .......... water 1s useful, then do it.

a. heated / heating b. heats / heating  c. heating / heated d. heats / heated

20. (Many people today are getting their news and information from online sources such as
internet websites and online news agencies. They even buy their needs online.)
- What would be the best sentence to support this?
a. This is a threat to paper industry and in turn will have its effect on the publication of
newspapers. b. The technological advancement won’t oblige newspapers to change.
c. You can make half of your news online and gradually you will be able to attract more
internet users online and earn more money.
d. In this case, you will have no objection to the change that will certainly take place.
21. Use phrasal verbs when writinga/an ................. email.
a. spoken b. formal c. informal d. written
22. Which of the following is perfectly punctuated?
a. | read the novel; Ali watched the film. b. I read the novel: Ali watched the film.
c. | read the novel! Ali watched the film.  d. I read the novel Ali watched the film.
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23. (Schubert and Mozart both died in their thirties.) The underlined word is a/an .........

a. noun b. verb c. adjective d. distributive
24. What gives context to nouns in relationship to other nouns or pronouns?
a. Conjunction b. Preposition c. Adverb d. None of the above

25. (Package holiday destinations are usually popular tourist resorts, thus there is little
opportunity to experience the true culture of the country you are visiting.)
The underlined word shows ............................
a. reason b. addition c. result d. contrast
26. “T understand this.” The prefix giving the opposite of the underlined word is ............

a. dis b.im c.un d. mis
27. Fill in with past perfect tense: I ............... my homework when my uncle arrived.

a. completed b. had completed c. was completing  d. had been completing
28. She loves chocolate .................. but I don’t.

a. Semicolon b. Period c. Colon d. Comma

29. Please be seated.

a. Exclamatory b. Interrogative  c. Imperative d. Declarative
30. (Baby frogs grow up on their own). The underlined words can be replaced by ........
a. by themselves b. in their own c. of their own d. at themselves

B. Reading Comprehension

2. Read the passage and the answer the questions:

The first man to jJump out of an aeroplane travelling at a speed greater than the speed
of sound was Arthur Ray Hawkins. During an air show, Hawkins was flying a new type of
plane. At 40,000 feet, the nose of the plane dipped sharply. It gathered such speed that it
was travelling faster than sound. Near him, there was a button which was to be used in times
of danger. Hawkins pressed it. There was an explosion and his seat burst through the glass
shell. He tried to pull the ribbon which would open his parachute. It was fortunate that he
failed in his attempt, for at such a rate of speed the parachute would have been torn to
pieces. As he sped towards the earth, he realized that the breathing-tube which supplied him
with air had also been torn away. At about 29.000, he tried to open the parachute. He pulled
a handle which freed him from the pilot seat. He began to tremble with cold and everything
went grey; he was not getting enough air. He remembered a rule for breathing at heights. He
took short, sharp breaths and so forced air into the blood stream. This kept him alive until at
10,000 feet, he could breathe. Soon afterwards he landed safely in a field of cotton.

- Choose the correct answer from a, b, c or d:

1. Arthur Ray Hawkins was the first man .......................... .

a. to make an aeroplane. b. to reach the moon.

c. who discovered electricity. d. who jumped from a fast plane.
2. Arthur Ray Hawkins was flying ..................ooooin.t. .

a. a new type of super jet. b. a new type of Kite.

c. a new type of plane. d. a new type of rocket.
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3. Arthur Ray Hawkins’s seat burst through the glass shell because ............................. .

a. he pressed a button that caused explosion. b. he made a fire inside the plane.

c. the plane was dipping downwards. d. the plane was at a high speed.
4. Arthur Ray Hawkins flew a new type of plane during .........................
a. an air show. b. the first world war.
c. his jumping in the air. d. a military parade.
5. What button did Arthur Ray Hawkins press?
a. A button for speeding. b. A button for danger.
c. A button for flying. d. A button for landing.
6. The word “tremble” is close in meaning to ......................... .
a. chant b. shave c. shiver d. thrive
7. Why did the plane gather speed?
a. Its nose dipped sharply b. Hawkins was a clever pilot
c. It was a well-made one d. It was a modern plane
8. What happened to Hawkins as a result of pulling a handle?
a. He was able to breathe fast b. He was able to land safely
c. He freed himself from the seat d. He landed in a cotton field
9. Why was Hawkins trembling?
a. Everything went grey b. He wasn’t getting enough air
c. Because of the pressure d. Because of the cold
10. What breathing rule did Hawkins follow?
a. Taking longer breaths b. Forcing air into his blood stream
c. Forcing himself to breathe fast d. Taking short breaths

3. Read the passage and the answer the questions:

Peter began the task of finding a room where he could live for the next few months.
He wanted a room which was not too small, nor so large that it would be difficult to heat in
winter. It had to be clean and comfortable. It had to be quiet with a view that did not look
directly on the street. On the website he visited there were very few advertisements for
rooms to let. A notice in capital letters caught his eyes:

“Bolton’s Accommodation Agency, London. Flats and Rooms to Let.” He made a
note of the address and set off in search of the agency to find a room. He found it in a
narrow street. The woman at the desk gave him a list of about a dozen landladies who had
rooms.

At the first house Peter tried, the landlady, who was about seventy years old, was so
deaf that he had to shout to make her hear him. When at last she understood, she shook her
head. At the second house on the list all the rooms were taken. At the third, the landlady
was not at home. There was a telephone number after one of the addresses on the list. He
rang up the landlady. To his relief, she had one vacant. He hurried to the house, which stood
at some distance from the road. The room he was shown lay at the back of the house,
overlooking a garden full of flowers. He noted too that there was a large table in the room,
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where he could spread out his books and work in comfort, without hesitation he paid a
week’s rent in advance and went back to the station to get his luggage.

- Choose the correct answer from a, b, c or d:
1. Where did Peter get information about accommodation?

a. From the railway station. b. From an accommodation agency.
¢. From a woman he met in the street. d. From a landlady.
2. Before paying the rent, Peter ......................ocooea .
a. didn’t show hesitation b. didn’t show interest
C. didn’t show enthusiasm d. didn’t show liking
3. Why didn’t Peter telephone all the addresses on the list?
a. He didn’t want to annoy the people. b. He didn’t want to pay money for calls.
c. The first three houses were near. d. Only one had a telephone number.

4. How did Peter get a description of the room he finally took?
a. He was given a description in the agency. b. He was given a description on the phone.
c. He was there and saw the room for himself. d. He got the luggage from the station.
5. What does the underlined pronoun “it” refer to?

a. the newspaper b. the street c. the room d. the agency

6. To “let a room” means to ................ one.
a. buy b. leave c. rent d. sell

7.Because hewas ..................... living in the room, he paid a week’s rent in advance.
a. enthusiastic about  b. brilliant at c. immersed in d. exciting about

8. “Peter began the task of finding a room where he could live for the next few months”
The underlined word is a/an ......................

a. question word b. relative pronoun c. linker d. adjective phrase
9. The lady “shook her head” to show ..........................

a. approval b. acceptance c. disapproval d. dissatisfaction
10. Peter seems to be a/an .........cccoeevveeci i

a. student b. farmer c. landowner d. manufacturer

C. Translation

4. Read the sentences and choose the correct translation from a, b, ¢, or d:
1. Many writers are private people who hate publicity and receiving attention from media.
2OV Sl (e plaiaY) AL g Ao all (8 S (5 shale Galddl ap Ul (e S
LIV Jilia g (e alaia¥) Al g dleal) (R S () puanadia galddl ab GUS]) (e S
LY Qi g (a alaidY) AL 5 Ao S (9 S G peanadia palddl ab S (e IS 7
LYY Jilia g (e alaia¥) Al g dle 1) G sh S (1 gashaie Qalidl ap GUSH (e 1S

2. Despite the challenges the Egyptian economy is facing, there is determination to

overcome them.
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a. Driving through the city turned into a difficult challenge as the number of cars increased
and the roads became congested.
b. Leadership through the city turned into a difficult challenge as the number of cars
increased and the roads became congested.
c. Leadership through the city turned into a difficult challenge as the number of cars
increased and the roads became compacted.
d. Driving through the city turned into a difficult challenge as the number of cars increased
and the roads became compacted.
Adnaall Al g (udil) JA03 DY) g dasall g Jaadl g Jlaall g il g o) (o Gl 359 ua Ao ABldl) 85 ¢
a. Philosophy is based on the necessity of researching for truth, goodness, beauty, justice,
wisdom and honesty inside oneself and the surrounding environment.
b. Philosophy is based in the necessity of researching for truth, goodness, beauty, justice,
wisdom and honesty inside oneself and the surrounded environment.
c. Philosophy is based on the necessity of searching for truth, goodness, beauty, justice,
wisdom and honesty within oneself and the surrounding environment.
d. Philosophy is based in the necessity of searching for truth, goodness, beauty, justice,
wisdom and honesty within oneself and the surrounded environment.
D. Writing
5. Write about 200 words on one of the following:
1. A descriptive essay on “How will life be like in fifty years from now?”
2. An argumentative essay on “Which is better, starting your own business or getting a

governmental job?”
X General Exam (8)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, c, or d:
1. “The show's popularity has declined since one of the stars left.” The synonym of the word

“declined” here 1s ..........ccovvvvinnn...
a. encouraged b. attached c. deteriorated d. fascinated
2. 'l have my bicycle ............ooevivinnnnn.. .
a. fix b. to fix c. fixing d. fixed
3. The company made large profits last year, so they're hiring more people. The antonym of
“profits” 1S ...vveiiiii

a. gains b. losses C. remains d. tasks
4. They are expected ..........ccevvvvinnnnnns the cup.
a. to have been won b. to win c. to have won d. that they would win
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5.Thechildren......................... over which movie to watch.
a. included b. argued c. developed d. encouraged
6. Theteahasrun ................... ; I will go to the shops to buy some.
a. off b. out of c. down d. out
7. Missing the school bus made her ............................
a. cheerful b. grumpy c. delighted d. glad
8. There’s ................. tae in the packet.
a. afew b. many c. much d. a lot of
9. Thewoman .......................... her child for being mean to his brother.
a. killed b. scolded c. rejected d. injected
10. When he was a young man, Ali ................. work as a taxi driver.
a. used to b. would c. got used to d. was used to
1T.We oo a new clothes dryer in our home.
a. declined b. risked c. destroyed d. installed
12 i, would be to send them a warning before dismissing them.
a. | recommend b. I suggest c. My suggestion d. I advise
13. If you have a question about your benefits, talk to someone in the ......... department.
a. information contact b. telephone number ¢. human resources d. curriculum vitae
14180 oo, colder here than inside the house.
a. very b. more c. much d. a few
15. Island residents are campaigning to save what they say is an important .......... site.
a. marriage b. baggage c. heritage d. luggage
16.- ..o out?/. — OKk, let’s.
a. Why don’tyougo  b. You could c. | advise you to go d. Let’s go
17. Which of the following connects nouns, noun phrases, clauses or sentences together?
a. Conjunction b. Interjection c. Adjective d. None of the above

18. Which would be the best topic sentence for this set of sentences?
a. It has no light of its own. b. The Moon is a barren, rocky world without air and water.
c. It has dark lava plain on its surface.  d. The Moon is filled with craters.

19. .l football is enjoyable. .......... well, football gives you skill and intelligence.
a. To play / Playing b. To play / Played c. Playing / Play d. Playing / To play
20. “How are you doing?”isa/an .................... language.
a. formal b. slang c. colloquial d. official
21. (It puts one baby frog in each of these watery flowers.)
a. demonstrative + noun + noun b. demonstrative + adjective + verb
c. demonstrative + adverb + noun d. demonstrative + adjective + noun
22. Pollution is a threat to life on earth ..........
a.? b.. C.: d.!
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23. (By 1850, the population had grown to one billion.) Which tense is used here?

a. past simple b. past perfect simple c. past continuous d. past perfect continuous
24. Select the supporting detail that doesn't fit.

Topic Sentence: (Doing your homework has many benefits).

a. Doing your homework helps you remember the material better.

b. Homework takes up your precious after-school time.

c. Those who complete their homework often do better on the test.

d. When you have done your homework, it makes it easier to participate in class.
25. Which one has the perfect punctuation?

a. | said to Mona, ;1 will travel to London next week;.

b. I said to Mona, "I will travel to London next week"".

c. I said to Mona, ‘I will travel to London next week;.

d. I said to Mona, (I will travel to London next week™".
26. Which sentence is most likely told from the point of view of a scientist?

a. I don’t know how he figured out the correct dose to give to that patient.

b. Where in the world will we ever find the money?

c. Science can include the study of the earth, animals, or people.

d. My first experiment was a failure, but I didn’t give up.
27. Which two sentences would be the best to combine into one using a relative pronoun?
(1 Authors spend many months writing their books. 2 They can’t do the fun activities they would
normally do. 3 Families sometimes suffer when authors must meet deadlines. 4 The hard work
and sacrifices they make often go unnoticed. 5 That’s often why there’s a dedication page. 6 It’s
a way of thanking those who suffered during the many months the book was being written.)

a. 1-2 b. 2-3 c.5-6 d. 4-5
28. The prefix “sub” in “sub-zero” means .....................

a. more than b. over c. above d. lower than
29. Find the noun phrase in this sentence: She is now happily married to her best friend.
a. is now happily married b. her best friend
c. to her best friend d. happily married
30. I have a dog; his name is Tomy.
a. Exclamatory b. Interrogative c. Imperative d. Declarative

B. Reading Comprehension

2. Read the passage and the answer the questions:

Murchison Falls National Park, in Uganda, is a great place to see animals in the
wild. It is the country’s oldest national park. It was created in 1952. Today there is a
wonderful variety of animals and birds, including as many as three hundred mountain
gorillas.

The best time of year to visit is in the dry season of December to March. This is
because the grass is shorter and so it is easier to see the animals. The park gets its name
from a magnificent waterfall. Here the River Nile thunders down a 30-metre gap in the
rocks, the spray clouding everything like wet smoke. You can take a trip on a river launch to
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the bottom of the falls and see hippos and crocodiles swimming in the peaceful water or
lying in the sun along the river banks. The boats are piloted by park rangers. Or you can
take a walk in the forest and see chimpanzees and monkeys or take a ride in a jeep on the
bumpy dirt roads in search of animals.

Visitors stay in mud huts in a camp half a mile up the hill from the river. The huts
are simple but comfortable. For baths, a basin of hot water is heated over the fire and
brought to the visitors by a camp attendant. In the evening you can sit by a fire, eat and
listen to the park rangers telling stories. They often talk about poachers. For example, they
say that men in the north poach giraffes so they can make bracelets of giraffe-tail hair to
ensure a good marriage.

- Choose the correct answer from a, b, c or d:

1. The accommoOdation IS .......ueerneee e, .

a. simple and uncomfortable b. simple but comfortable.
c. hard but comfortable d. very simple but very uncomfortable.
2. Park rangers often talk about ...........................
a. men in the north poach giraffes b. stories of animals poachers
c. bracelets of giraffe-tail hair d. stories of giraffe-tail hair
3. Where do visitors stay?
a. In a muddy camp. b. In the river Nile.
c. On the snowy hill. d. In a basin of hot water.
4. The best time of year to visit Murchison Falls National Park isin ....................... .
a. Summer b. Winter c. March d. December

5. Sitting by the fire gives visitors achance to ...............ccooiiiiiiiiiiiin. ... .

a. see the river at night. b. have amusing talks.
c. see crocodiles swimming. d. take a walk in the forest.
6. The word “poach” is close in meaning to ....................... .
a. hunt b. chase c. play with d. dance with
7. Where is Murchison Falls National Park?
a. In the Nile b. In the Congo c. In Africa d. In the mountain

8. “There is a wonderful variety of animals and birds, including as many as three hundred
mountain gorillas.” The underlined words representa ...................ccoevviiiininn...

a. whole for a part b. part of awhole c¢. whole d. whole for another whole
9. “The park gets its name from a magnificent waterfall.” The underlined word is a/an .......

a. phrase b. sentence c. statement d. question
10, crocodiles swimming in the peaceful ....”

29

The underlined word can be replaced by “...................... .
a. which swimming b. are swimming c. that are swimming  d. that swimming

3. Read the passage and the answer the questions:

Over twenty million people are employed in the coffee industry. They grow and sell
enough coffee beans for 400,000,000 cups of coffee a year. Coffee is worth more than any

44 ) My new Friend - 37 Secondary - Booklet of Exams

darsenglizy.com



My new Friend

other industry in the world except oil. In Brazil alone, about 3,000,000 coffee plants are
looked after every year.

The story was - though no one really knows the truth - that coffee was discovered in
the country known today as Ethiopia. A man called Kaldi who was looking after his goats
noticed that his goats were very energetic after eating a certain kind of berry. He decided to
try the berries himself and found that they gave him a lot of energy. When some priests
heard about this, they dried the berries, then made them into a drink with water. Coffee was
born!

It was in Turkey, however, that the coffee drink we know today was first made. Two
Syrian businessmen brought the beans to Istanbul in 1550. The Turks heated the beans over
a fire, crushed them and then boiled them in water. Coffee drinking became an important
part of Turkish life rather like the way tea did in Japan. Also, whereas in Western nations a
man often chose a woman to be his wife because she was a good cook, in Turkey men often
tested the coffee made by a woman before they thought seriously about marrying her.

By the 18" century coffee had become an important part of European life as well. In

England, in particular, the coffee houses of London became important meeting places for
writers and men working in the government.

In some ways Turkish coffee is similar to the Espresso coffee drunk in Italy - it is
dark and strong and drunk from small cups. However, it is made in a completely different
way, and sometimes a spice called cardamom is added. Turkish coffee is served from a pot
called a "cezve". In the same way that in tea-drinking nations some people tell fortunes from
looking at the tea leaves in the bottom of a cup, so in Turkey some people tell fortunes from
looking at what is left of the coffee in the cup.

- Choose the correct answer from a, b, cor d:

1. In Turkey some people tell fortunes from looking at ......................ociiiiii. .

a. what's left in their tea cups. b. the tea leaves.

C. the tea roots. d. what's left in their coffee cups.
2. Coffee had become an important part of the European lifeinthe ............................ .

a. 19" century b. 20" century  c. 18" century d. 17" century
3. Coffee was discovered for the firsttime in ........................... .

a. Ethiopia b. Turkey c. Syria d. Brazil
4. The word "cezve" refers to a coffee ...............ooooeeninnl. .

a. powder b. leaf c. container d. fortune
5. What does a Turkish woman making good coffee indicate?

a. She is a suitable bride. b. She must be a president.

c. She is optimistic. d. She must be single all her life.

6. Which of the following statements is TRUE?

a. Coffee industry is the most profitable ever.  b. Oil industry is the biggest in the world.
c. The Turkish were the first to discover coffee. d. The priests in Ethiopia opposed drinking coffee.

7. Coffee was officially born when .................... drank it.
a. the nomads b. religious people c. Kaldi d. the goats
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8. “The story was - though no one really knows the truth - that coffee was discovered in the
country known today as Ethiopia.” The writer ................ccooviinenn..

a. completely believes the story b. totally disbelieves the story
C. seems to doubt the story d. is never convinced of such stories
9. Who brought beans to Turkish life?
a. Businessmen b. Syrian women  c. Turkish traders d. Syrian tradition

10. The underlined pronoun “it” refers to .................ccoouvee..
a. Italian coffee b. Turkish coffee  c. Espresso d. the coffee cup

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:
1. Dishonesty symbolizes all that is fake and unreal whereas honesty produces trust in
ourselves and in all those around us.
Llga (e JS g Ll B 480 giay ol Laly a8l g € g Ciida g8 La JS ) pdy QXS
Llga (e JS g L] B 480 die mily gaal) Laln (2819 58 g Ciuda o8 La S ) Jan @3N @
Llga (e JS g Ll B 480 glay ol Laly a8l g € g qu e ga La JS ) pdd ALY aae
Llga Ga JS g L] B 480 die il gual) Loty 2819 € 9 cu e 9b La JS ) Ja 5 ALY pae
2. Youth deserve to be aided and supported for the responsibility of reconstruction and
innovation lies on their shoulders.
SEUST 38 5 LS 5 Jlas Y Bale ) Al giga (Y ao ) g Baslusal) bl (Gadiay |
pelile o 2 i)y Jles Y Bale) Al ga (Y Ao all g B Lusall Gl glisg @
pelile o ol i) g les ) Bale) Al g3una (Y aSall g B0 Lusal) Glpdid) iy &
ARUST 38 5 SN g Jles ) Bale ) Al gipesa (Y ao ) g Bas Lisal) ilpdl) liag L
Oasdad) g saad) ¢ Al sl dgal ga e il slalal) (pa Jaa dacY A gal) labads ¥
a. The state plans to prepare a generation of scholars capable of facing the challenges of the
twenty-first century.
b. The state plans to prepare a generation of scholars capable of facing the challenges of the
twenty-first decade.
c. The state plans to prepare a generation of scholars able of facing the challenges of the
twenty-first decade.
d. The state plans to prepare a generation of scholars able of facing the challenges of the
twenty-first century.
A dsla oo Gall agadyy Laa (1S JS (B SLai®Y) Jla ) Jgie ApilSaal) Bl 1) AlSdia culi 381
a. The problem of overpopulation has determined the brains of economists everywhere,
which prompts them to search for solutions to it.
b. The problem of overpopulation has occupied the minds of economists everywhere, which
prompts them to search for solutions to it.
c. The problem of overpopulation has occupied the brains of economists everywhere, which
pushes them to search for solutions to it.
d. The problem of overpopulation has determined the minds of economists everywhere,
which pushes them to search for solutions to it.
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D. Writing
5. Write about 200 words on one of the following:
1. An essay on “Keeping a clean environment is the responsibility of every citizen.”
2. A reflective essay on “The kind of novels you would like to read and why.”

X) General Exam (9)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1. Parents always advise their children ................ education without getting a degree.
a. to leave b. not to leave c. don’t leave d. not leave

2. “He developed an elaborate plan for his escape.” The opposite of "elaborate" is .........
a. complex b. simple C. contemporary d. powerful

3. They wanted to know which school ..................c.......... to.
a. had I been b. did I go c. | had been d. I have been

4. “The new play is a must-see.” “Must-see” here means .........................
a. trivial b. boring c. dull d. significant

5. My father asked me how .................. I did in the last test.
a. good b. a well c.agood d. well

6. “There were fierce attacks on the BBC for alleged political bias.” The word "bias™ here

MEANS ..vvrenreennnennnns
a. criticism b. magnetism c. favouritism d. environmentalism
7. As soon as it stops raining, I .................... to the park.
a. will go b. go c. will have gone d. will have been
8. Computer breakdowns are annoying and ...........cccoceveeerereenne :
a. innocence b. innovative c. intentional d. inconvenient
9. There are SO .................. pieces of information in this report.
a. many b. much c. alot of d. a few
10. The teacher ....................... the spelling errors by circling each one.
a. pouted b. highlighted c. prettified d. beautified
11.She ...l four emails before she left the office.
a. had been sending b. had sent c. has been sending d. has sent
12. High tides .................... with strong winds caused severe flooding.
a. compensated b. combined c. challenged d. quoted
13. I don’t mean the girl with black eyes. Imeanthe .................... one.
a. green-eyes b. green-eyed C. green eyes d. green eyed
14.The oo, of students can be a challenging task for teachers.
a. motivation b. discouragement c. coronation d. illustration
5. 1. my sick friend many times this month.
a. have been visiting b. have visited c. have been visited d. was visiting
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16. Her oo and determination were a source of inspiration to others.
a. rumour b. humour c. devour d. armour
17. A Process paragraph is also knownasa ................... paragraph.
a. what’s-up b. what-in c. how-to d. what-by

18. “Doing kind things for others usually makes you feel good too.”
Which sentence is not relevant to the topic?

a. Awards have been given out to people for good deeds.

b. She felt happy and proud when she saw her friend’s tears turn to a smile.

c. Giving her the bracelet made me feel good.

d. The card was made with love by her daughter.

19. My sister graduated ......... medicine ...... Cairo university ....... 1999 ...... honours.
a.in/with/in/from b. with/in/in/from c.from/with/in/in d.in/from/in/with
20. Some economists argue that new technology causes unemployment. Others feel that it

allows more jobs to be created.

a. Some economists argue that new technology causes unemployment whereas others feel
that it allows more jobs to be created.

b. Arguing that new technology causes unemployment, other economists, feel that it allows
more jobs to be created.

c. Besides the argument that new technology causes unemployment, some economists feel
that it allows more jobs to be created

d. Some economists argue that new technology causes unemployment, so others feel that it
allows more jobs to be created.

21. What is meant by UNITY of the essay?

a. Each paragraph should have details and examples.

b. Each paragraph should go its own way away from the main idea.

c. Each paragraph should stick to its main point.

d. Each paragraph should be written in the active voice.

22. Which paragraph is punctuated correctly?

a. Indiais an agricultural country. Most of the people live in villages and are farmers. They
grow cereals, pulses, vegetables and fruits. The farmers lead a tough life. They get up
early in the morning and go to the fields.

b. India is an agricultural country, Most of the people live in villages and are farmers. They
grow cereals, pulses, vegetables and fruits. The farmers lead a tough life. They get up
early in the morning and go to the fields.

c. India is an agricultural country. Most of the people live in villages and are farmers. They
grow cereals, pulses, vegetables and fruits; The farmers lead a tough life. They get up
early in the morning and go to the fields.

d. India is an agricultural country. Most of the people live in villages and are farmers. They
grow cereals, pulses, vegetables and fruits. The farmers lead a tough life. They get up
early in the morning and go to the fields,
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23. Are you the one who bore my leg?

a. Exclamatory b. Interrogative  c. Imperative d. Declarative
24. “This machine is efficient.” The prefix used to give the opposite of “efficient” is ..........
a.un b.im c. dis d.in
25. The supporting details come after the topic sentence, making up the ... of a paragraph.
a. body b. introduction C. summary d. conclusion
26. Which of the following is NOT a noun phrase?
a. small puppy b. car c. leftarm d. chocolate ice-cream

27. Which sentences would be the best to combine into one using a conjunction?
(1 I’ll never forget the look on her face. 2 | knew she was feeling sad. 3 | decided to bake her a
batch of her favorite chocolate chip cookies. 4 Once they were baked, | wrapped them in
wrapping paper on a plate. 5 | told her to close her eyes. 6 When she opened them, she was so
surprised. 7 The look on her face was priceless.)

a.l1-2 b. 2-3 c.3-4 d. 4-5
28. Which one has the perfect punctuation?

a. There are two Gs in the word “Google”. b. There are two G’s in the word “Google”.

C. There are two Gs’ in the word “Google”. d. There are two G;s in the word “Google”.
29. Select the best topic sentence for the paragraph.

............................... . It also consists of comets, meteoroids and asteroids. The Sun

Is the largest member of the Solar System. In order of distance from the Sun, the planets are
Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus, Neptune and Pluto; the dwarf planet.

a. The Sun is at the centre of the Solar System.

b. The planets, asteroids, comets and meteoroids revolve around it.

c. The Solar System consists of the Sun Moon and Planets.

d. The sun is a very large ball of hot gases.
30. What should happen in the conclusion paragraph of an essay?

a. Write a good hook b. Write an introductory idea for the essay

c. Add new ideas d. Restate the thesis statement

B. Reading Comprehension

2. Read the passage and the answer the questions:

Though Mr. Jones told his wife that the trip into the middle of Africa to shoot wild
animals would be a very uncomfortable one, it would be very hot, they would live in a tent
and it might be dangerous, she insisted on going with him. They bought a big tent, camp
beds a refrigerator which did not need electricity and various other things and went off to
the middle of Africa.

Before going to hunt, Mr. Jones gave his wife a bell to use if she was in danger and
needed him; then he left. After a few minutes, he heard the bell and returned quickly to the
tent. "What's the matter?" he asked. "Nothing", confirmed his wife. "I was only testing the
bell*. Mr. Jones went off, but after a quarter of an hour, the bell rang again. Mr. Jones
hurried back to the tent, but his wife said, "I'm sorry | was cleaning our tent, and | knocked
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the bell over by mistake"”. Mr. Jones returned to his hunting, but soon he heard the bell once
more. This time, when he got back to his camp, the tent was burning, and Mrs. Jones was
lying on the ground, with blood running from a big cut on her shoulder. "That's better!" said
Mr. Jones. This time the bell had been used correctly. The woman on the floor couldn’t help
laughing at that humorous comment. She was safe again, but Mr. Jones cancelled the idea of
the bell and took her with him on his hunting trip the next day. To their surprise, they heard
something which the wife thought to be the ringing of the bell. Mr. Jones, sure that it wasn’t
the bell, then said that if she was right, then it must have been her ghost which was feeling
frightened inside the tent and thus used the bell to ask for help.

- Choose the correct answer from a, b, c or d:

1. When did Mr. Jones say his wife could use the bell?

a. When she was testing it. b. When she was alone.
¢. When she was in danger. d. When she was cleaning the tent.
2. On the first day, Mr. Jones heard the bell .......................... .
a. twice b. once c. four times d. three times
3. What does the underlined word “it” refer to?
a. the trip b. the weather c. the animal d. the wife
4. Why did Mr. Jones and his wife go to the middle of Africa?
a. To spend their holiday. b. To shoot tame animals.
c. To shoot wild birds. d. To shoot wild animals.
5. Why did Mr. Jones take his wife with him the next day?
a. To make her frightened of animals. b. To take revenge on her.
c. To ensure her safety. d. To benefit from her experience in shooting.
6. Who used the bell the next day?
a. The wife’s ghost b. The wife c. No one d. A thief
7. Why did Mr. Jones not want to take his wife with him to the middle of Africa?
a. She was an annoying woman b. The destination was too far away
c. The trip would be hard d. The weather would be appropriate
8. On the first day, the wife used the bell three times, .......... of which was by mistake.
a. two b. none C. one d. all

9. “They bought a big tent, camp beds a refrigerator which did not need electricity and
various other things and went off to the middle of Africa.” This is some kind of .........
a. evaluation b. assessment c. confirmation d. preparation
10. “oiii said that if she was right, then it must have been her ghost which was
feeling frightened inside the tent and thus used the bell to ask for help.”
This shows that Mr Jones ............................
a. was a completely serious character b. had a sense of humour
c. was afraid of his wife’s ghost d. wanted to make his wife terrified
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3. Read the passage and the answer the questions:

Interests are important to think about. But it is most important to know about your
values. Work values seem to affect one's choice of jobs even more than interests. So,
sometimes one may go through a conflict between his interests and his work values. Some
people, for instance, might accept jobs that don't fit their work values. That means that
something important to them is missing. In other words they have to do something in their
job which doesn't fit their work values.

One work value is working under pressure. Some people like to work that way.
Others can't stand it. My sister loves pressure. She works best when she has to meet a
deadline. She loves a job where she has to hurry. She would be bored in a job without
pressure. On the contrary, my mother can't stand pressure. She gets nervous and makes
mistakes. Pressure even makes her sick. She won't be able to stay very long in a pressure
cause job. Some occupations are more likely to have time pressure than others. For
example, working for a newspaper always has deadlines.

Possessing a positive attitude is an important work value. Employers seek
employees who take the initiative and have the motivationto get the job done in a
reasonable period of time. A positive attitude gets the work done and motivates others to do
the same without dwelling on the challenges that inevitably come up in any job. It is the
enthusiastic employee who creates an environment of good will and who provides a positive
role model for others. A positive attitude is something that is most valued by supervisors
and co-workers, and that also makes the job more pleasant and fun to go to each day. On the
contrary, some employees have a negative attitude while working and those achieve no
professional success.

- Choose the correct answer from a, b, c or d:

1. According to the writer, our choice of jobs is influenced by ......................... .

a. our life conditions b. work values.
c. our own personalities. d. the salaries we receive.
2. Working under pressure means ..........o.eeeeeeennneeeneeennnnnn. .
a. meeting a deadline b. finishing at any time
¢. making mistakes d. enjoying your job
3. Pressure makes the writer’s mother ............................ .
a. sick b. interested c. happy d. enthusiastic
4. What should a good employee do?
a. He should neglect his work. b. He should set a role-model for others.
c. He should refuse the deadline. d. He should give excuses all the time.
5. What does the underlined word “it” refer to?
a. Possessing a positive attitude. b. The value of work.
c. Working under pressure. d. The way people work.
6. What is a “deadline”?
a. A line at which someone dies. b. A time of death for someone.
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c. A time before which something is done.  d. A line on which something is done.

7. According to the passage, every job must have itsown ............................

a. challenges b. precautions c. cautions d. developments
8. People who don't like their jobs ...l

a. make more progress at them b. achieve no success at them

c. die while doing them d. do them enthusiastically
9. — What kind of person is the writer’s sister? — She’s .......................

a. fatigued b. failed C. persistent d. delicate

10. According to the passage, which of the following is untrue?
a. The writer’s mother can’t stand pressure. b. The writer’s sister works under stress.
c. Work values affect people’s job preference. d. Negative attitudes make work pleasant.

C. Translation
4. Read the sentences and choose the correct translation from a, b, c, or d:
1. To remain employable, you have to cope with all the latest developments in your work
field. Lifelong learning helps people gain skills necessary for living and making progress.
e oAl Blal) saa aladl) ooy dllas Jlaa B 5AY) @ shail) aran (gaad e (il gill S Yl I
LR (38a g Gluall da U Gl jlgeal) s
s el Blald) aa aladl) doluy clles Jlaa B 5 LAY CY sadl) aran (Gia dlile (i il Saf Qi S
A (g8a g (e ll Ao U ) jlgeal) i)
S AR Blal) sia alail) doluy dles Jlaa A5 AY) Y il aran 4S) ga e il gill Saf g5 S
AR (38N g Gl da P &) jlgeal) i)
o oAl Blal) saa alail) ooy dllas Jlae B 5 AN i shail) aan AuS) ga e (i il S Qa5
AR 38l g Gluall da U <l jlgeal) Giliuiss)
2. Modern technology enables man to engineer and construct amazing structures.
Adada Sl ol g dusin (e Gl (Sl Adpaal) L ol il
Adnda 8L sl g iy e o Gl aolad Apaal) L gl g3l @
Adnda a0 g8 el iy el o laady) o lud Apaad) L gl il 7
A da 2o g ol g Al (o Glaady) (pSad Lgand) L gl gicil o
LAY LA 05 0 dile g dliy oy el e g Blall B s Ol 2 4l Y
a. Freedom is the most valuable thing in life, and in order enjoy your freedom, you must
respect the freedom of other.
b. Freedom is the most valuable thing in life, and in order to enjoy your freedom, you must
respect the freedom of other.
c. Freedom is the most valuable thing in life, and in order enjoy your freedom, you must
respect the freedom of others.
d. Freedom is the most valuable thing in life, and in order to enjoy your freedom, you must
respect the freedom of others.
Aalinl) @ JadY) (@aT Ao lgllee gl (A0 g Lgda B BLal) Jsie o pulad JSy ading Al g 6T £l €
a. The prosperity of any country depends main on the minds of its smarts and on the hands
of its workers in order to make great achievements.
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b. The prosperity of any country depends mainly on the minds of its geniuses and on the
hands of its workers in order to make great achievements.
c. The prosperity of any country depends main on the minds of its smarts and on the hands
of its workers in order to do great achievements.
d. The prosperity of any country depends mainly on the minds of its geniuses and on the
hands of its workers in order to do great achievements.
D. Writing
5. Write about 200 words on one of the following:
1. A comparative essay on “Which kind of life do you prefer, city life or life in

the country?”
2. A process essay in which you describe how you would cook a simple meal or prepare

a simple drink.
X General Exam (10)

A. Vocabulary and Structure

1. Choose the correct answer from a, b, c, or d:

1o this movie before?

a. Have you been watching b. Have you been watched

c. Have you watched d. Are you watching
e , the child made a full recovery from the disease.

a. Remarkable b. Remark c. Remarkably d. Remarks
3.Howmany ...................... has she bought?

a. bread b. loaves C. cheese d. rice

4. “The product contains no artificial colours, flavours, or preservatives.” The word

“artificial” is the antonym of the word .........................

a. natural b. industrial c. technical d. cultural
5.He............ at the university for a year before he joined the army.

a. has been teaching b. was teaching c. had been teaching d. has been taught
6. “The old man still has all his mental powers.” The opposite of “mental” is ...............

a. external b. lonely c. physical d. particular
7. Space travel .................... by the end of this decade.
a. will be advance b. is advancing c. will be advancing d. will have advanced
8. Your children should be given ........................... over your own needs.
a. availability b. contributory c. visibility d. priority
9. The president talked .................... so everyone clapped.
a. impressively b. impressed C. impressive d. impression
10. Most of the marble had been imported at vast ................... from Italy.
a. expense b. expanse c. extent d. exist
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11. My parents still remember .....................oooeeee Luxor and Aswan. It was enjoyable.
a. to visit b. visiting c. visit d. having visited
12. You should be able to pick up a few good ............... . Products here are cheap.
a. coins b. ports c. columns d. bargains
13. My father .................. smoke.
a. would b. used to c. was used to d. is used to
14.Shegrewup .................. ; speaking Italian at home and English at school.
a. multilingual b. trilingual ¢. monolingual d. bilingual
15. I wrote my first story when I ........................ at secondary school.
a. have been b. had been c. was being d. was
16. ool is polite, kind, and unselfish behaviour, especially by men towards women.
a. Knight b. Chivalry c. Fable d. Myth
17.A o is an opening sentence that catches the reader’s attention.
a. thesis b. transition c. hook d. conclusion

18. lIdentify the participle(s).
(Enjoying her victory, Monica jumped around wildly and threw her arms up in celebration.)

a. Enjoying b. Enjoying, threw
c. Enjoying, jumped, threw d. Enjoying, jumped
19. She isill as she ...... bad food. Yesterday she was ill as she ......... the same bad food!
a. had eaten / has eaten b. had eaten / has been eaten
c. has eaten / had eaten d. had been eaten / had eaten

20. (How are you and your family? I'd like to invite you to visit Egypt next summer.)

This is a part of an email toa/an ............................

a. customer b. friend C. company d. manager
21. Sentencesare made up of .................ooenll

a. clauses and phrases b. articles and verbs

C. possessives and demonstratives d. predicates an objects

22. Which of the following could be used as a topic sentence in an essay about (Terrorism)?
a. The individuals have a duty to help the government face this very serious problem.
b. We can conclude that the problem of terrorism needs an urgent solution.
c. Terrorist bands in any country threaten the life of people there.
d. Terrorism is any act designed to cause terror.
23. “He pays regular visits to the school.” The prefix giving the opposite of “regular” is ...
a.ir b.un c.im d. dis
24. In an essay about (The role the Egyptian women play in society); how do you conclude?
a. As for the social role of women, they are the backbone of the family besides men.
b. Throughout history, there have been many examples that show women's success in
different life fields.
c. Finally, all evidences show the basic role a woman does for humanity, that's why the
Egyptian woman should always be given the chance to serve her society.
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d. Sharing in enriching our culture, women in Egypt bring upcoming generations and teach
them how and why to love their homeland.
25. One of the following sentences has the correct punctuation; which one is it?
a. | go to the market to buy potatoes tomatoes, oranges and mangoes.
b. I go to the market to buy potatoes, tomatoes oranges and mangoes.
c. | go to the market to buy potatoes, tomatoes, oranges and mangoes.
d. 1 go to the market to buy potatoes, tomatoes, oranges and mangoes?
26. (The government should do its best to look after young people.)
Choose the most appropriate sentence to support the sentence above.
a. Students in schools and universities should study hard and concentrate on learning.
b. Graduates should be ready to serve their country and protect it from dangers.
c. It should let them share in making decisions.
d. Every employee and worker should do their duties efficiently.
27. The conjunctions that join two nouns or two adjectives like “and” are ................

a. coordinating b. subordinating  c. correlative d. determiners
28. (I’ll certainly help.) What is “I’Il”’ considered in this sentence? A ................

a. gerund b. contraction C. pronoun d. contradiction
29. Don’t trust him. Heis ................... honest .................. conscientious.

a. both / and b. either / or c. neither / nor d. not only / but

30. Which sentence is perfectly punctuated?
a. “Get out of the room;” he said, examining the cheque.
b. “Get out of the room” he said examining the cheque.
C. “Get out of the room,” he said, examining the cheque.
d. “Get out of the room:” he said, examining the cheque.

B. Reading Comprehension

2. Read the passage and the answer the questions:

Should we work all the time without having rest or entertainment? The answer is that
we cannot go on working without stopping, from time to time and at regular intervals, to
have some rest and some recreation. If we did not, we could make mistakes and the quality
of our work might get worse. An overworked person may end up by losing the ability to
think clearly and by having no energy to go on working. Sleep is one of the ways in which
nature renews our energy.

Sports and games are also essential for brain workers, who stay in closed offices and
do not have a good chance to exercise their muscles. Such activities as swimming and
walking may do them a lot of good, so we should not waste our weekends. They should be
made full use of and spent in the open. Having forgotten all about our work and the worries
of life, we can then enjoy ourselves to the full and return the next day to work with our
energy fully renewed. Change has a magic effect on man's health and consequently on his
performance.
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Balance between life and work is key. Those who work hard must spend good quality
time with their families. It is also important for people to separate their work life from their
home life. Working all the time without breaks or relaxing activities may lead to disastrous
problems like stress and exhaustion. Taking regular breaks from work will surely enhance

your health and make you perfect when you return to work.

- Choose the correct answer from a, b, c or d:
1.

What should people who work hard do?
a. Overwork to achieve goals.
c. Stop working and become idle.

. What is the benefit of sleep?

a. It makes us stupid.
c. It increases frustration.

. For whom is sleep necessary?

a. For young children.
c. For old people.
a. health b. recover

a. less energy b. more energy

. How does change affect man?

b.
d.
. The underlined word “recreation” means ............eeueeeeeuieeeuunnn.. .
C.

C.

. Leave work and relax all their life.
. Balance between work and personal life.

. It makes us energetic.
. It makes us disappointed.

. Overworking results in ...............ccoiiiiiiiiiiiiin... .

For sick people.

For all people.

enjoyment d. efforts

more experience d. sound thinking

a. It makes his life silly. b. It enhances his performance.
c. It hinders his creativity. d. It stops his breathing.
. The passage writer advises people to ..........ooviiiiiiiiiiiiiiiiiiiii i,
a. stop work to have some rest b. stop work and retire
c. stop work when they are able to do it d. stop work if they have enough money
. What happens if one goes on working after one gets tired?
a. The quality of their work increases b. One makes no mistakes at all
c. One cannot think clearly d. One has energy to get on working
. The underlined word “intervals” can be replaced by “....................... ”
a. rests b. places C. periods d. jobs
10. ““Having forgotten all about our work” The underlined word means “..................
a. When b. Where c. Therefore d. Before

3. Read the passage and the answer the questions:

Henry Pulling was a retired bank manager and lived a very conventional life. His
mother died just after he retired. At the funeral, he met his Aunt Augusta, a woman in her
seventies who he had not seen for 50 years. Aunt Augusta had travelled all over the world.
From everything she said, it was obvious that Augusta had lived an adventurous
unconventional life. After the funeral, Henry and Augusta met again and, despite having
very different personalities, they got on well. Augusta told Henry things about his family
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that he had never known. Augusta then persuaded Henry to go travelling with her, at first to
places in England, but gradually to more exciting destinations. Until that time, Henry had
lived a quiet life; most of the people he knew were bank customers or colleagues.

One day, Augusta told Henry she was taking him to Istanbul. He was surprised by that
sudden announcement. He was used to planning everything he did, but Augusta was always
spontaneous and seemed to make decisions without thinking. On the journey to Istanbul,
Henry found out more about his aunt's unusual lifestyle and her past. As they travelled,
Henry saw new cultures for the first time and Augusta introduced him to her old friends
who all had exciting and unusual stories to tell. Henry was often surprised by what he heard,
but began to enjoy himself more and more.

When he returned to England, Henry enjoyed his retirement looking after the flowers in
his garden, but he was a changed man. He missed his aunt and her interesting friends, and
Augusta had shown him a new way of looking at the world.

- Choose the correct answer froma, b, cor d:
1. When did Henry first meet his aunt?

a. Before his mother died. b. After his mother died.

c. Before he retired from work. d. After he travelled to Istanbul.
2. What change came over Henry after he had travelled with his aunt?

a. He looked at life in a different way. b. He led a conventional life.

c. He hated flowers and gardens. d. He regretted working in the bank.
3.Henryand hisaunt .....................oooiiinL . .

a. had different characters. b. lived the same lives.

c. were conflicting over inheritance. d. didn’t enjoy each others’ company.
4. What did Augusta help Henry to know?

a. His family’s inheritance. b. His family’s history.

c. His family’s friends. d. His family’s place.
5. A SpONtaneouUs PErSOM .....vvuvueeeieeiieeiieeanaeannnns .

a. makes plans for everything. b. does things without planning.

c. does experiments on things. d. rarely makes quick decisions.
6. The word “conventional” means ..............cocvviiiiiiiiiniiieennnnnn. .

a. traditional b. bad c. disappointing d. frustrating
7. Aunt Augusta’s life was full of ...

a. mysteries b. secrets c. plans d. adventures
8. What was Henry’s occupation before he retired?

a. A manager b. An engineer c. A traveller d. A convention
9. “despite having very different personalities, they got on well.” This expresses ..............

a. cause b. addition C. contrast d. effect

10. To “geton” means to “..........cooeiiiiiiniie i,
a. be confident b. be friends c. be brave d. be hesitant
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C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:
1. Modern schools have been constructed recently and training courses for teachers are
carried out on a large scale with the aim of promoting the educational process and raising

the standard of teachers’ efficiency and enhancing their performance.
Lralatl) dlaal) 3y 5a8 Ciags a9 (GUad o Cpralaall Ay a5 <y g9 LG9 3 pAY) A5 gV b dbaa (pu glaa s L&) &3
Pl (el g (alanall pUS (5 glana 29
Alaal) pgat Ciags gl g (Gl o Cpalnall dumy 05 ) g3 ananalig 3 pAY) A3 gY) B dbaa G lta p L) &5 0
palgn Cpmad g (palaal) BolES (6 glna @) g Aparlal
Aalaal) a8 Ciags a9 (3Uad o Cpralaall A a8 ) 5 g9 Lk g 3 A A5 W) & dbaa (gl sLES) &3
A Gt g Cpalral) BEUS (g giea ad g dpaytadl
Lleall y gt Ciags al g (3Uad o Cpnalaall Ay a5 ) 5 99 ananal g 8 a8 A5 gW) A Aas (puyla pLE) a3 0
A a9 Caalral) BpUS (g e ad g dpagladl
2. All heavenly religions call for peace, love, respect, tolerance, mercy, cooperation,
brotherhood and peaceful coexistence between different nations and peoples.
O oalaadl (lacit) 9 3 a1 g ¢ glacill g dan 1) g galail) g af iat) g duaal) g aBlaad) ) 4 glacad) clibal) asan godi
S gddl g aal) CAlida
O o) (laitl g 3 3N g ¢y glacill g Cdanl) g galiaill g o) sia¥) g duaall g adlad) ) 4 gland) CULAY graa o i @
S srdll g aaY) alida
Ot paliad) 2SN 9 3 6341 g ¢ glaill g Cdaad) g prabiaill g o) 5aY) g dpaall g aSlaad) ) 45 glawd) Clilal) asas go i
S srdll g aaY) Alida
O paliad) a8 L) 93 6231 9 ¢y glacil) g das 1) g rabiall g al a1 g dgacall g aBlaal) ) 4 glandd) ciliball asan go i 3
rdd) g ) Cilida
Ll Cy ) ol S (B pmni 1 ) 98 Al g 95 S el b Sl o el oy ¥
a. Some people think that money is the root of all evil and that it is the main cause of
contents between people.
b. Some people think that money is the route of all evil and that it is the main cause of
conflicts between people.
c. Some people think that money is the route of all evil and that it is the main cause of
contents between people.
d. Some people think that money is the root of all evil and that it is the main cause of
conflicts between people.
o gSalld duinl) g Ao LaiaV) g dpalualBy) UiSdia (o il 4 gicsal) Jaad (8 o Ly (f 4l Unaina (B a8 S ¢
L Gl (¢ gla (93 Sl graall g (39 gadl g st IS Asl 8 O ey LeiSas ¥
a. Every individual in our society has to share in bearing the responsibility to overcome our
economic, social and environmental problems. The government cannot only face all
challenges, obstacles and difficulties without the cooperation of the people with it.
b. Every individual in our society has to share in making the responsibility to overcome our
economic, social and environmental problems. The government cannot only face all
challenges, obstacles and difficulties without the cooperation of the people with it.
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c. Every individual in our society has to share in making the responsibility to overcome our
economic, social and environmental problems. The government cannot alone face all
challenges, obstacles and difficulties without the cooperation of the people with it.

d. Every individual in our society has to share in bearing the responsibility to overcome our
economic, social and environmental problems. The government cannot alone face all
challenges, obstacles and difficulties without the cooperation of the people with it.

D. Writing
5. Write about 200 words on one of the following:
1. An essay describing the techniques that can improve education in our country.
2. A narrative essay on “A brief story of the life of someone you think is important to you
or to the world.”
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- General Exam (1):
A. Vocabulary and Structure
1. Choose the correct answer from a, b, ¢, or d:

1 | d. plunged 2 | c. had been working

3 | d.plain 4 | d. getour car repaired

5 | c. techniques 6 | a. be taken

7 | c.impressive 8 | c.opening

9 | d. life experience 10 | a. have to

11 | c. famous 12 | b.year

13 | c. perseverance 14 | a. used to

15 | d. expatriate 16 | b. hard

17 | b.aclaim 18 | b.:

19 | b. The opportunity knocked on his door | 20 | c. emphasis

21 | d. Kind regards 22 | d. They practise useful hobbies and
exercises and eat nourishing foods.

23 | c. I'm a big fan of Italian food. 24 | c. imperative

25 | c. The weather, obviously, kept him 26 | d. transitive

from meeting his goals!

27 | a. past necessity 28 | c. can turn children into lazy couch
potatoes.

29 | b. giving advice and warning 30 |a. Farmers welcome barn owls, since one
barn owl can eat nearly 2,000 mice a year.

B. Reading Comprehension
2. Read the passage and the answer the questions:

1 | b. it often leads to violent actions. 2 | c. Unhealthy products

3 | d. weak in sport 4 | c. individuals and communities

5 | c. people 6 | b.curative

7 | b. Itimproves physical condition 8 | d. It unites them and divides them too.
9 | b. Children who don’t do sports well 10 | a. cooperation

feel adequate.

3. Read the passage and the answer the questions:

1 | a.day and night 2 | b. you'll damage your health
3 | d. Body Clock 4 | c. Technology has turned the world into
a small village.
5 | b. The body clock 6 | a. rate of motion or activity
7 | b. It tells us when it is the right time to 8 | d. sleep at night and work by day
die
9 | d.routine 10 | c. advice

C. Translation
4. Read the sentences and choose the correct translation from a, b, c, or d:

L gak a3 g sdall B (G pladl) 38 pib B o

LagalS ol JAT abga ) gl g B dilea Leds 3T Sy (Al el ey 0 985 Ay ey A (2 ppalsl) 7 | Y

3 a. Scientists think that the core of the earth consists of very heavy metals such as iron and
molten rocks.

4 d. Do you think that countries should spend on main needs more than they spend on
scientific research?
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- General Exam (2):
A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1 | d.synonyms 2 | a. had written

3 | d. burntout 4 |a.givein

5 | a.varies 6 | d. Eachof

7 | d. apprentice 8 | d. well educated

9 | a.bearin mind 10 | b. used to

11 | a. remains 12 | c. looking

13 | a. legend 14 | d. She usually is late for work.

15 | b. evidence 16 | a. for

17 | b. no object 18 | d. Where have you been?

19 | a. personification 20 | d. Beavers are clever and strong, and they
work as a team to build their lodges.

21 | d.interrogative 22 | c.is aimed at finding cures for many
serious diseases.

23 |a., 24 | c. subject

25 | c. They include furniture, sports equipment, 26 | a. If you don’t meet your goals, then you

pencils, magazines and cardboard boxes. should have some consequences.
27 | a. The army destroyed the city. 28 |c.4-1-2-3
29 | b. the reason for writing 30 | a. Prefixes

B. Reading Comprehension

2. Read the passage and the answer the questions:

1 | a. It damages us. 2 |d.AandB
3 | c. Our own character. 4 | b. They become destructive.
5 | c.poison 6 | a. qualities
7 | d. Everything is either good or bad 8 |c.Four
9 | b. treatment 10 | a. construction
3. Read the passage and the answer the questions:

1 | b. The nature of comets 2 | c. the arrival of comets coincided with
particular events.

3 | b. After Caesar had died. 4 | d. bring good or bad luck.

5 | b. Acomet 6 | b. predicting

7 | c. A comet was seen on that day 8 | b. shooting

9 | b.wicked 10 | d. superstition

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

Sl plam A AL Ladie Liidad dudy Y13 0 6Sh oo 3008 s Ll alad) Lale 81 0 \

Adliall o3 B oy pean i o) g eallad) A28 Al Jgal) G a gana (Bl ) Cuaal) o gleiSil) gl o) Y

3 d. I think space exploration is a waste of money and time and that we should spend
this
money on solving the problems that we face on earth.
4 b. The toxic chemicals released by cars into the air cause the problem of acid rain, which

damages the environment and causes deadly pollution.

- General Exam (3):
A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1 | c.taking 2 | d.awarded

3 | d.is going to fall 4 | d. method

5 | a.longsighted 6 | b.improve

7 | d. Each of 8 | d. procrastination
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for you, so you should do what they ask.

9 | b. Aclub used to be here. 10 | c. candidate

11 | a. good 12 | d. apathetic

13 | a. | had come 14 |c.in

15 | c. bigger 16 | a. eternally

17 | d. Suffixes 18 | b. No one can be sure if future life will be
better or worse but it will be very developed.

19 | a. apostrophe 20 | a. Have you ever been to UAE?

21 | d.2-1-3-4 22 |a..

23 | c. The bus stopped and we got out. 24 | a. People who do sports are often
stronger and healthier.

25 | d. indefinite 26 | d.sothat

27 | a. achievements 28 | b. independent clause

29 | c. | think that parents always know what is best 30 | a. paragraphs

B. Reading Comprehension

2. Read the passage and the answer the questions:
1 | d.Six 2 | b. sticks
3 | b. eagles’ houses 4 | a. Birds adapt their homes to suit their lifestyle.
5 | c. In other birds’ nests. 6 | b. Because ice is a good insulating material
7 | b.alter 8 | a. To prevent the nests falling off
9 | b.hardice 10 | d. doesn’t build a nest

3. Read the passage and the answer the q

uestions:

1 | b. increase the number of unemployed people 2 | d.jobs

3 | d. computers increase powers of 4 | c. an important development
concentration

5 | b. gives users backaches 6 | c. many people will become unemployed.

7 | b. When they are presented 8 | b. They make people more sociable
technologically

9 | b. They save time 10 | a. disputed

C. Translation

4. Read the sentences and choose the correct translation from a, b, ¢, or d:

ASglu Jo i Al dadil) g Adad) b gudal) (e sl Al e i) o )

ALY MR (e Al ) e cild glial) JAST ga ) ) | Y

3 a. Using computers in all aspects of our life will undoubtedly help us to cope with developed
countries.
4 d. Without making mistakes, man wouldn’t know what’s right or do successful work.

- General Exam (4):
A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1 | c.natured 2 | b. minute

3 | c. astronomer 4 | b.hadto

5 | b. frowned 6 | a. the most polluted
7 | b.interrupt 8 |a.died

9 | d.insignificant 10 | b. isstill thought
11 | b. landmarks 12 | a. none of

13 | a. multilingual 14 | a. used to have

15 | b. back 16 | a. had we heard

17 | c.your first and last names 18 | d. sentences

19 | c.sarcasm 20 | b. thesis

21 |a.; 22 | b. possessive

23 | b. Language 24 | b. popular in Scotland
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25 | a. It’s disruptive when I am giving 26 | c. Libraries improve self-learning and
instructions critical thinking.
27 | d. convincing 28 | c. In the 17" century it became very
popular in Holland.
29 | c. water 30 | d. Comparative

B. Reading Comprehension

2. Read the passage and the answer the questions:

1 a. They didn’t save enough money in the past. 2 b. World Population
3 | c. average life 4 | c. will live in cities
5 | c. poor quality soil 6 | c.carbon dioxide being emitted into the
atmosphere.
7 | b. In contrast 8 | d. poverty
9 | a. increase by two times 10 | a. llliterate
3. Read the passage and the answer the questions:

1 | a. they are advertised 2 | d.in different means of advertising

3 | a. notices for something for sale 4 | a. Rational means

5 | b. that the advertisement is telling the truth | 6 | a. Because they sell the same products.
7 | d. reminding the customer of the product 8 | b.brand

9 | d. Competition 10 | a. influence

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

o) A) g 23y adl (pibal gal) G prilead) (2 51 Sl g9 0l) (02 )

o omSllaa g8 Sh ) AaY (e Y Aa i g Aa dre WbaT ¢ 6K ¢ SHall g slalall o giad Ladic Jas Y

An e Ags Lglaa g Uik s
3 a. It is important to organize your work so as not to accumulate work on you and to save
your time and effort.
4 c. The purpose of most advertising is to sell goods or services and manufacturers advertise
their products to persuade people to buy them.

- General Exam (5):
A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1 | b.inclusion 2 | d.whomlgo
3 | c.irritable 4 | c. good-looking
5 |a.solar 6 | d.doeshe
7 | d. perceived 8 |c.tosleep
9 | a. old-fashioned 10 | d. All mentioned
11 | b. overall 12 | a. in a fatherly way
13 | c. elegant 14 | c. had her bad tooth pulled
15 | b.grasp 16 | b. that day was
17 | c. definition 18 | c. I want that milk.
19 | a. figure of speech 20 | d. fewer miners have gotten "Black Lung."
21 | d. Brainstorming 22 | c. I spoke to him last night he won’t
come tomorrow.
23 | a. We can get water from rain, rivers, 24 | b..
wells, seas and lakes.
25 | a. development 26 | b. life
27 | a. Co-education refers to education for 28 | a. with a broken handle
both boys as well as girls.
29 | a. Compare and contrast 30 |d.bothbandc
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B. Reading Comprehension

2. Read the passage and the answer the questions:

1 | c. A famous storybook 2 | c. defend themselves

3 | b. Heis a story pirate 4 | b. Machine guns and modern weapons
5 | c. Their catching big fish 6 | b. fictional pirates

7 | b. aggressive 8 | a. effect

9 | c. resist being caught 10 | a. Modern pirates use fast motorboats

and machine guns.

3. Read the passage and the answer the q

uestions:

factory and being fired.

1 | d. they were getting experience 2 | b. the supervisor fired them

3 | b. For along time. 4 | c. There was no certain reason
5 | b.two weeks 6 | b.dismiss

7 | b. developed a liking for work 8 | c.strict

9 | b. A person and his sister working in a 10 | b. They neglected their work

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

A Al B 5 ) g Asadil) g adiil) Galadl Al 8 38 ) audal) piiay |

AU (ya Ul 13040 e A1) A gaiad) Baad Gl Jad) ¢ Sl Jlae (A uadd) (Bl gl B ) Y

3 d. Giving a helping hand to others in difficult situations that they face makes life valuable
and meaningful.
4 c. Money is a good servant that accomplishes your various purposes, but it becomes very

harmful if it controls you.

- General Exam (6):
A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1 | c. contribution 2 | a. has never spoken

3 | a. life-changing 4 | d.usedto

5 |d.evacuated 6 | d. would have been repaired

7 | b. prejudice 8 | b. most popular

9 | b.immersed 10 | a. is being built

11 | b. wore out 12 | b. had lost

13 | b. logic 14 | d.bothaandc

15 | d. minimize 16 | c. will be

17 | a. illustration 18 | a.verb/adverb

19 | d. Similes 20 | b. What a tremendous mountain

21 | b. Continuous 22 | c. Interjection

23 | b. Women are half the society and behind every 24 | a. an announcement
great man lies a woman backing him up.

25 |c.1-2-3 26 | a. In the beginning

27 | b. Facing the problem of unemployment | 28 | b. Wow! That car certainly goes fast!
must be a priority for the government.

29 | b. Present Perfect Tense 30 | a.too much

B. Reading Comprehension

2. Read the passage and the answer the q

uestions:

1 | c. Solar energy can be stored. 2 | b. To produce electricity
3 | a. water 4 | d. They are used only one time.
5 | c. By splitting atoms. 6 | c. do without
7 | d.Four 8 | b.gas
9 | d. under the ground 10 | d. addition
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3. Read the passage and the answer the questions:

1 | a. resist objects 2 | c. help birds to fly

3 | b. to direct itself 4 | d. Using its big wingspan
5 | b. Aboat 6 |a.apush

7 | b. The bat 8 | a. keel

9 | b. Both of them resist air and water 10 | c.run

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

Lol g ATlale g aatiaal) ABLES Lusal ) 3 yal) & ¢ eadl) !

Saranl) bl gal) g addl) daslat g 3 Al dsaddi gl A8 Ligas 199 Al ) qali ) \

3 c. We must rationalize our use of water. A drop of water is too precious to be wasted, and
the next war may be a war on water.
4 b. We have to increase our dependence on clean energy sources that do not pollute

the

environment and do not cause any harm to humans, plants or animals.

- General Exam (7):
A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1 |c.vague 2 | d. Have you listened

3 | c.fable 4 | d.anyone

5 | d.involved 6 | d.written

7 | a. joyful 8 | a. middle-aged

9 | b. management 10 | c. | used to smoke

11 | d.link 12 | d.each

13 | a. evaluated 14 | a. shouldn’t have

15 | d. categories 16 | b. looked

17 | c. Descriptive 18 | b. Breadth

19 | a. heated / heating 20 | a Thisis a threat to paper industry and in turn will
have its effect on the publication of newspapers.

21 | c.informal 22 | a. | read the novel; Ali watched the film.

23 | d. distributive 24 | b. Preposition

25 | c. result 26 | d. mis

27 | b. had completed 28 | d. Comma

29 | c. Imperative 30 | a. by themselves

B. Reading Comprehension

2. Read the passage and the answer the questions:

1 | d. who jumped from a fast plane 2 | c.anew type of plane
3 a. he pressed a button that caused explosion. 4 a. an air show.
5 | b. A button for danger 6 | c.shiver
7 | a. Its nose dipped sharply 8 | c. He freed himself from the seat
9 | d. Because of the cold 10 | d. Taking short breaths
3. Read the passage and the answer the questions:
1 | b. From an accommodation agency 2 | a. didn’t show hesitation
3 | d. Only one had a telephone number 4 | c. He was there and saw the room for himself
5 | d. the agency 6 |c.rent
7 | a. enthusiastic about 8 | b. relative pronoun
9 | c. disapproval 10 | a. student

4. Read the sentences and choose the correct translation from a, b, c, or d:

,ems‘g\dsujweunmgm,&mmgﬁﬁw@mum‘,.ussw“;‘s_i \
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a. Driving through the city turned into a difficult challenge as the number of cars increased
and the roads became congested.
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4 c. Philosophy is based on the necessity of searching for truth, goodness, beauty, justice,
wisdom and honesty within oneself and the surrounding environment.

- General Exam (8):
A. Vocabulary and Structure
1. Choose the correct answer from a, b, ¢, or d:

1 | c. deteriorated 2 | d.fixed

3 | b. losses 4 | b.towin

5 | b.argued 6 |d.out

7 | b.grumpy 8 |d.alotof

9 | b.scolded 10 | a. used to

11 | d. installed 12 | c. My suggestion

13 | c. human resources 14 | c. much

15 | c. heritage 16 | d. Let’s go

17 | a. Conjunction 18 | b. The Moon is a barren, rocky world
without air and water.

19 | b. To play / Played 20 | c. colloquial

21 | d. demonstrative + adjective + noun 22 | b..

23 | b. past perfect simple 24 | b. Homework takes up your precious
after-school time.

25 | b. I said to Mona, "'l will travel to 26 | d. My first experiment was a failure, but |

London next week"". didn’t give up.
27 | c.5-6 28 | d. lower than
29 | b. her best friend 30 | d. Declarative

B. Reading Comprehension
2. Read the passage and the answer the questions:

1 | b. simple but comfortable. 2 | b. stories of animals poachers
3 | a. Ina muddy camp 4 | b. Winter
5 | b. have amusing talks 6 |a. hunt
7 | c. In Africa 8 | b. part of awhole
9 |a.phrase 10 | c. that are swimming
3. Read the passage and the answer the questions:
1 | d. what's left in their coffee cups 2 | d. 17" century
3 | a. Ethiopia 4 | c. container
5 | a. She is a suitable bride 6 | b. Oil industry is the biggest in the world.
7 | b. religious people 8 | c. seems to doubt the story
9 | a. Businessmen 10 | b. Turkish coffee

C. Translation
4. Read the sentences and choose the correct translation from a, b, c, or d:

Ml G S (g Ll (8 A8 Ade iy Gacal) Ladyy (2Bl 5 e 98 La S () Gap i) o \
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3 a. The state plans to prepare a generation of scholars capable of facing the challenges of the
twenty-first century.

4 b. The problem of overpopulation has occupied the minds of economists everywhere, which
prompts them to search for solutions to it.

- General Exam (9):
A. Vocabulary and Structure
1. Choose the correct answer from a, b, ¢, or d:

1 | b. notto leave 2 | b.simple
3 | c. I had been 4 | d. significant
5 |d. well 6 | c. favouritism
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Moon and Planets.

7 |a. willgo 8 | d. inconvenient

9 |a.many 10 | b. highlighted

11 | b. had sent 12 | b. combined

13 | b. green-eyed 14 | a. motivation

15 | b. have visited 16 | b. humour

17 | c. how-to 18 | a. Awards have been given out to people
for good deeds.

19 | d.in/from/in/with 20 | a. Some economists argue that new ...

21 |c. Each paragraph should stick to its main point. | 22 | b. India is an agricultural country, Most

23 | b. Interrogative 24 | d.in

25 | a. body 26 | b.car

27 | b.2-3 28 | b. There are two G’s in the word “Google”.

29 | c. The Solar System consists of the Sun 30 | d. Restate the thesis statement

B. Reading Comprehension

2. Read the passage and the answer the q

uestions:

1 | c. When she was in danger 2 | d. three times

3 | b. the weather 4 | d. Toshoot wild animals

5 | c. Toensure her safety 6 |c.Noone

7 | c. The trip would be hard 8 |c.one

9 | d. preparation 10 | b. had a sense of humour
3. Read the passage and the answer the questions:

1 | b. work values. 2 | a. meeting a deadline

3 |a.sick 4 | b. He should set a role-model for others
5 | c. Working under pressure 6 | c. Atime before which something is done.
7 | a. challenges 8 | b. achieve no success at them

9 | c. persistent 10 | d. Negative attitudes make work pleasant

C. Translation

4. Read the sentences and choose the correct translation from a, b, ¢, or d:

A GAAEY) Slal) saa alail) doluy dllas Jlaa B 5 paY) Gl ) ghil) gran 48] ga dlile ciyda ill LB J5 <1 o \
LA 38t g Gluall da U & jlgeal) i)

Ak JSUa sl g it (e () OSaS Agaal) L gl gi<a) Y

3 d. Freedom is the most valuable thing in life, and in order to enjoy your freedom, you must
respect the freedom of others.

4 b. The prosperity of any country depends mainly on the minds of its geniuses and on the
hands of its workers in order to make great achievements.

- General Exam (10):
A. Vocabulary and Structure

1. Choose the correct answer from a, b, ¢, or d:

1 | c. Have you watched 2 | c. Remarkably

3 | b. loaves 4 | a. natural

5 | c. had been teaching 6 | c. physical

7 | d. will have advanced 8 | d. priority

9 | a.impressively 10 | a. expense

11 | b. visiting 12 | d. bargains

13 | b. usedto 14 | d. bilingual

15 | d.was 16 | b. Chivalry

17 | c. hook 18 | a. Enjoying

19 | c. has eaten / had eaten 20 | b. friend

21 | a. clauses and phrases 22 |d. Terrorism is any act designed to cause terror.
23 |a.ir 24 | c. Finally, all evidences show the basic
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role a woman does for humanity .....

25 | c. | go to the market to buy potatoes, 26 | c. It should let them share in making
tomatoes, oranges and mangoes. decisions.

27 | a. coordinating 28 | b. contraction

29 | c. neither / nor 30 | c. “Get out of the room,” he said,

examining the cheque

B. Reading Comprehension

2. Read the passage and the answer the questions:

1 | d. Balance between work and personal life. 2 | b. It makes us energetic
3 | d. For all people 4 | c.enjoyment
5 | a. less energy 6 | b. It enhances his performance
7 | a. stop work to have some rest 8 | c. One cannot think clearly
9 | c. periods 10 | a. When
3. Read the passage and the answer the questions:

1 | b. After his mother died 2 | a. He looked at life in a different way.
3 | a. had different characters. 4 | b. His family’s history

5 | b. does things without planning 6 | a. traditional

7 | d. adventures 8 | a. A manager

9 | c.contrast 10 | b. be friends

C. Translation

4. Read the sentences and choose the correct translation from a, b, c, or d:

Aleall 325 Ciags ol g Gl (o Opalaall A p35 ) g9 3505 8 Y1 A gY) (B Aas (ulae L) o5 '
A1) (a9 Calrall BpUS (g giana 28 ) g Aasladl)

Ot radead) Glslail) 98 5AY) 5 ¢ glacill g daa 1) g zraluail) g o) a9 dsaall g aSead) L) A gland) cililbal) pran oo ) Y

sl g e calida

d. Some people think that money is the root of all evil and that it is the main cause of

conflicts between people.

d. Every individual in our society has to share in bearing the responsibility to overcome our
economic, social and environmental problems. The government cannot alone face all
challenges, obstacles and difficulties without the cooperation of the people with it.
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